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HIT THE BULL’S EYE 
TEST XXVII PREMODEL I  

(GENERAL SCIENCE, THIRUKURAL, GENERAL tamil) 
 

1. Liquified Petroleum gas (LPG) contains mixture of 
a. Octane and Propane  b. Methane and Propene 
c. Butane and Propane  d. Octane and Butane 
e. Answer not known 
jputkhf;fg;gl;l ngl;Nuhypa thA (LPG) vjd; fyit MFk;? 
a. Mf;Nld; kw;Wk; GNuhg;Ngd; b. kPj;Njd; kw;Wk; GNuhg;gPd; 
c. gpa+l;Nld; kw;Wk; GNuhg;Ngd; d. Mf;Nld; kw;Wk; gpa+l;Nld; 
e. tpil njhpatpy;iy 
 

2. A man weighs 60 kg on earth, in moon, his weight will be 
a. 360 kg b. 10 kg c. 15 kg d. 120 kg e. Answer not known 
xU kdpjdpd; vil g+kpapy; 60 fp.fp cs;sJ. re;jpudpy; mtuJ vil 
________ 
a. 360 fp.fp b. 10 fp.fp c. 15 fp.fp d. 120 fp.fp e. tpil njhpatpy;iy 
 

3. Which of the following is not a necessary quality of a planet? 
a. It should orbit around the sun 
b. It should get a spherical shape 
c. It should clear the neighbourhood around its orbit 
d. Its density must be more than that of the sun 
e. Answer not known 
gpd;tUtdtw;Ws; vJ Nfhs;fSf;fhd mbg;gil gz;G my;y? 
a. Nfhs;fs; #hpaidr; Rw;wp tu Ntz;Lk; 
b. Nfhs;fs; Nfhs tbitg; ngw;wpUf;f Ntz;Lk; 
c. Nfhs;fs; jdJ tl;lg;ghijapy; thd;nghUl;fs; VJkpd;wp ePf;fpapUf;f 

Ntz;Lk;. 
d. Nfhs;fspd; mlh;j;jp #hpaid tpl mjpfkhf ,Uf;f Ntz;Lk;. 
e. tpil njhpatpy;iy 

 

4. Oort cloud is located in the 
a. Atmosphere of Pluto   b. Photosphere of the sun 
c. Region beyond Kuiper belt  d. The asteroid belt 
e. Answer not known 
Ch;l; Nkfq;fs; vq;F fhzg;gLfpd;wd? 
a. GSl;Nlhtpd; tspkz;lyj;jpy;  b. #hpadpd; xspf;Nfhsj;jpy;  
c. Fa;g;gh; kz;lyj;jpw;F mg;ghy;  d. rpWNfhs; kz;lyj;jpy; 
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e. tpil njhpatpy;iy 
5. Which of the following is not an example of projectile motion? 

a. An object dropped from window of a moving train 
b. A bullet fired from a riffle  c. A ball thrown in any direction 
d. None of the above   e. Answer not known 
gpd;tUtdtw;Ws; vJ vwpnghUs; ,af;fj;jpd; vLj;Jf;fhl;L my;y? 
a. XLk; ,uapypd; [d;dypypUe;J fPNo Nghlg;gLk; nghUs;. 
b. Jg;ghf;fpapypUe;J ntspNaWk; Fz;L 
c. VNjDk; xU jpirapy; tPrp vwpag;gLk; ge;J 
d. Nkw;$wpa vJTkpy;iy 
e. tpil njhpatpy;iy 
 

6. Impulse is a _______ quantity and its unit is _______ 
a. Scalar, N   b. Scalar, Ns   c. Vector, N  
d. Vector, Ns  e. Answer not known 
fzj;jhf;F xU ___ msthFk;. ,jd; myF ___. 
a. ];Nfyh;> N  b. ];Nfyh;> Ns  c. ntf;lh;> N  
d. ntf;lh;> Ns  e. tpil njhpatpy;iy 
 

7. Which of the following is a pseudo force (or) fictitious force? 
a. Centrifugal force  b. Centripetal force  c. Frictional force   
d. Gravitational force e. Answer not known  
gpd;tUtdtw;wpy; vJ Nghypahd my;yJ ngha;ahd tpir? 
a. ikatpyf;F tpir b. ikaNehf;F tpir  c. cuha;T tpir  
d. GtpaPh;g;G tpir  e. tpil njhpatpy;iy 
 

8. ,y;tho;thd; vd;ghd; ,ay;Gila ______________ 
ey;yhw;wpd; epd;w Jiz.  
a. ,Uth;f;Fk;  b. %th;f;Fk;   c. ehy;th;f;Fk;  
d. Ith;f;Fk;   e. tpilnjhpatpy;iy 
ilvaazhvaan enpaan iyalputaiya __________ 
nallaatrin nindra thuNai 
a. iruvarkum b. moovarkum  c. nalvarkum 
d. ivarkum  e. answer not known 
 

9. Match the following: 
Shapes    Centre of Mass 
A. Sphere  - 1. Meeting of body diagonals 
B. Square  - 2. At the centre point 
C. Cuboid   - 3. Outside the body 
D. Ring   - 4. Meeting point of diagonals 
 A B C D 
a. 2 4 1 3 
b. 2 1 4 3 
c. 3 1 4 2 
d.  3 4 1 2 
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e. Answer not known 
nghUj;Jf. 
tbtk;    epiw ikak; 
A. Nfhsk;   1. rha;Nfhl;L %iytpl;lk; re;jpf;Fk; Gs;sp 
B. rJuk;   2. ikag; Gs;sp 
C. fd nrt;tfk;  3. nghUSf;F ntspNa 
D. tisak;   4. %iytpl;lq;fs; re;jpf;Fk; Gs;sp 
  A B C D 
a. 2 4 1 3 
b. 2 1 4 3 
c. 3 1 4 2 
d.  3 4 1 2 
e. tpil njhpatpy;iy 
 

10. Match the following: 
A. Gravitational force    1. Joule 
B. Gravitational field   2. Jkg-1 
C. Gravitational Potential    3. Newton 
D. Gravitational Potential Energy 4. m/s2 
 A B C D 
a. 3 4 1 2 
b. 3 4 2 1 
c. 1 2 3 4 
d. 3 1 2 4 
e. Answer not known 
nghUj;Jf 
A. <h;g;gpay; tpir    1. [_y; 
B. <h;g;Gg; Gyk;    2. Jkg-1 
C. <h;g;G jd;dpiy Mw;wy;   3. epA+l;ld; 
D. <h;g;G epiy Mw;wy;   4. m/s2 

 A B C D 
a. 3 4 1 2 
b. 3 4 2 1 
c. 1 2 3 4 
d. 3 1 2 4 
e. tpil njhpatpy;iy 
  

11. Law of length for the time period of a simple pendulum is, 

a. T l  b. 
1

T
l

  c. 
l

T
g

  d. 
2

1
T

l
  e. Answer not known 

jdp Crypd; miyTNeuj;ijg; nghWj;j ePsj;jpd; tpjp. 

a. T l  b. 
1

T
l

  c. 
l

T
g

  d. 
2

1
T

l
  e. tpil njhpatpy;iy 
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12. Workdone is zero when, 

a. Force is zero       
b. Displacement is zero 
c. Force and displacement are perpendicular  
d. All the above 
e. Answer not known 
vg;NghJ nra;ag;gl;l Ntiy RopahFk;? 
a. tpir RopahFk;NghJ    
b. ,lg;ngah;r;rp RopahFk;NghJ 
c. tpirAk; ,lg;ngah;r;rpAk; nrq;Fj;jhf cs;sNghJ 
d. Nkw;$wpa midj;Jk; 
e. tpil njhpatpy;iy 

 
13. Match the following: 

A. 1 erg    1. 4.186J 
B. 1 electron volt    2. 1.6 × 10-19 J 
C. 1 calorie    3. 3.6 × 106 J 
D. 1 kwh    4. 10-7 J 
 A B C D 
a. 1 2 4 3 
b.  4 2 1 3 
c.  3 2 4 1 
d.  3 4 2 1 
e. Answer not known 
nghUj;Jf. 
A. 1 vh;f;    1. 4.186 J 
B. 1 vyf;l;uhd; Nthy;l;  2. 1.6 х 10-19 J 
C. 1 fNyhhp    3. 3.6 х 106 J 
D. 1 fpNyhthl; kzp   4. 10-7 J 
 A B C D 
a. 1 2 4 3 
b.  4 2 1 3 
c.  3 2 4 1 
d.  3 4 2 1 
e. tpil njhpatpy;iy 
 

14. The amount of heat energy required to raise the temperature of 1kg of a 
substance by 1 kelvin (or) 1°C is, 
a. Heat capacity  b. Specific Heat Capacity  c. Latent Heat  
d. Specific latent heat e. Answer not known 
xU fpNyhfpuhk; epiwAila nghUspd; ntg;gepiyia xU nfy;tpd; my;yJ 
1°C cah;j;j Njitg;gLk; ntg;gj;jpd; msT> 
a. ntg;g Vw;Gj;jpwd;  b. jd;ntg;g Vw;gj;jpwd; c. cs;Siw ntg;gk;  
d. jd; cs;Siw ntg;gk; e. tpil njhpatpy;iy 
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15. Consider the following: 

Assertion (A): Water is used as a coolant in power stations and reactors 
Reason (R): Water has the highest value of specific heat capacity 
a. (A) alone is correct (R) is incorrect 
b. (A) and (R) are correct and (R) is the correct explanation of (A) 
c. (A) and (R) are incorrect 
d. (A) and (R) are correct but (R) is not the correct explanation of (A) 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A):  kpd; cw;gj;jp epiyaq;fs; kw;Wk; mZf;fU ciyfspy;  
   ePhpidf; Fsp&l;bahf gad;gLj;JfpNwhk; 
fhuzk; (R): ePhpd; jd;ntg;g Vw;Gj;jpwd; mjpfgl;r kjpg;igg; ngw;Ws;sJ. 
a. (A) kl;Lk; rhp (R) jtW 
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R)> (A) tpw;F rhpahd tpsf;fkhFk;. 
c. (A) kw;Wk; (R) ,uz;Lk; jtW 
d. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R)> (A) tpw;F rhpahd tpsf;fky;y 
 

16. ,y;ywk; Nkw;nfhz;L tho;fpd;wtd; ahUf;F Jizahdtdhthd;?  
a. Jwtpah;fs;   b. twpath;fs; c. xUtUkpd;wpj; jd;ghy;te;J 
d. ,it midj;Jk;  e. tpilnjhpatpy;iy  
Person lives with domestic virtue will be a support to, 
a. saints   b. poor    c. helpless people 
d. All of these  e. Answer not known 
 

17. Match the following: 
A. Isothermal Process   1. Food cooked in open vessel 
B. Adiabatic Process  2. Water heated at boiling point 
C. Isochoric Process  3. Warm air forming a cloud 
D. Isobaric Process   4. Food cooked in closed vessel 
 A B C D 
a. 2 3 4 1 
b. 2 4 1 3 
c. 3 2 1 4 
d. 3 4 1 2 
e. Answer not known 
nghUj;Jf. 
A. ntg;gepiy khwh epfo;T 1. jpwe;j ghj;jpuj;jpy; rikj;jy; 
B. ntg;gg; ghpkhw;wkpy;yh epfo;T 2. jz;zPiuf; nfhjpepiyapy; 
ntg;gg;gLj;Jjy; 
C. gUkd; khwh epfo;T  3. #lhd fhw;W kio Nkfkhf khWtJ 
D. mOj;jk; khwh epfo;T  4. %lg;gl;l ghj;jpuj;jpy; rikj;jy; 
 A B C D 
a. 2 3 4 1 
b. 2 4 1 3 
c. 3 2 1 4 
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d. 3 4 1 2 
e. tpil njhpatpy;iy 

18. The device used to measure the rate of flow of the incompressible fluid flowing 
through a pipe 
a. Anemometer   b. Hygrometer   c. Accelerometer   
d. Venturimeter  e. Answer not known 
xU Fohapd; topNa nry;Yk; mKf;f ,ayhj ePh;kk; ghAk; tPjj;ij mstpl 
cjTk; fUtp> 
a. mdpNkhkPl;lh;  b. i`f;NuhkPl;lh;  c. KLf;fkhdp   
d. ntd;Rhpkhdp  e. tpil njhpatpy;iy 

 
19. The minimum distance from a sound reflecting wall to hear an echo at 20°C is, 

a. 17.2 m  b. 34.4 m   c. 37.2 m   
d. 20.4 m  e. Answer not known 
20°C apy; vjpnuhyp Nfl;f> vjpnuhypf;Fk; gug;G mika Ntz;ba Fiwe;j gl;rj; 
njhiyT. 
a. 17.2 m  b. 34.4 m   c. 37.2 m   
d. 20.4 m  e. tpil njhpatpy;iy 
 

20. Identify the correctly matched pairs among the following. 
I. First equation of motion – v = u + at 
II. Second equation of motion – s = at + ½ ut2 
III. Third equation of motion – u2 = v2 + 2as 
a. I and II only  b. II only   c. I, II and III   
d. I only   e. Answer not known 
gpd;tUtdtw;wpy; rhpahd ,izia Njh;e;njL. 
I. Kjy; ,af;fr; rkd;ghL – v = u + at 
II. ,uz;lhk; ,af;fr; rkd;ghL – s = at + ½ ut2 
III. %d;whtJ ,af;fr; rkd;ghL – u2 = v2 + 2as 
a. I kw;Wk; II   b. II kl;Lk;   c. midj;Jk;  
d. I kl;Lk;   e. tpil njhpatpy;iy 
 

21. One  atmospheric pressure is equal to 
a. 1.013 bar   b. 1.013 × 106 Pa   c. 1 Pa  
d. None of above  e. Answer not known 
xU tspkz;ly mOj;jk; = _____. 
a. 1.013 bar   b. 1.013 × 106 Pa     c. 1 Pa  
d. Nkw;$wpa vJTkpy;iy e. tpil njhpatpy;iy 
 

22. The device used to convert dc into ac 
a. Electric motor  b. Battery   c. Inverter   
d. Rectifier   e. Answer not known 
Neu;jpir kpd;Ndhl;lj;ij khWjpir kpd;Ndhl;lkhf khw;w gad;gLk; fUtpapd; 
ngah; vd;d? 
a. kpd;Nkhl;lu;  b. kpd;fyk;    c. Neu;khw;wp   
d. jpUj;jp   e. tpil njhpatpy;iy 
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23. To see your entire body in a mirror, the mirror should be atleast, 
a. Half your height  b. ¼ th of your height c. ¾ th of your height 
d. Same as your height e. Answer not known 
Mbfspy; cly; KOtJk; ghh;f;f Ntz;Lnkd;why; Mbfs; ___ mstpy; ,Uf;f 
Ntz;Lk;? 
a. ekJ cauj;jpy; ghjp  b. ekJ cauj;jpy; ¼ gq;F 
c. ekJ cauj;jpy; ¾ gq;F d. ekJ cauk; 
e. tpil njhpatpy;iy 

 
24. mwd;vdg; gl;lNj ,y;tho;f;if m/Jk;  

_____________ ,y;yhapd; ed;W.  
a. ,d;nrhyd;   b. gpwd;gopg;gJ  c. topnaQ;rpy;  
d. ntFsp    e. tpilnjhpatpy;iy 
aRanenp pattadhae ilvaazhkkai aqdhum 
____________ thillaayin nandru 
a. insolan   b. piranpazhippa   c. vazhiyenjil 
d. veguli   e. Answer not known 

 
25. Match the following 

A. Plane mirror  1. Astronomical Telescope 
B. Convex mirror  2. Lateral Inversion 
C. Concave mirror  3. Mirage 
D. Refraction  4. Traffic Safety 
 A B C D 
a. 2 4 1 3 
b. 4 2 1 3 
c. 2 3 4 1 
d. 4 2 3 1 
e. Answer not known 
nghUj;Jf: 
A. rkjs Mbfs; 1. thdpay; njhiyNehf;fp 
B. Ftp Mb  2. ,lty khw;wk; 
C. Fop Mb  3. fhdy; ePu; 
D. xsp tpyfy;  4. Nghf;Ftuj;J ghJfhg;G 
 A B C D 
a. 2 4 1 3 
b. 4 2 1 3 
c. 2 3 4 1 
d. 4 2 3 1 
e. tpil njhpatpy;iy 
 

26. Who is regarded as the father of fibre optics? 
a. Narinder Kapany b. C.V. Raman  c. S. Pancharatnam 
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d. J.C. Bose   e. Answer not known 
 
,io xspapaypd; je;ij vd miof;fg;gLgtu; ahh;? 
a. eupe;ju; fghdp  b. CV. uhkd;   c. S. gQ;ruj;dk;  
d. J.C. Ngh];   e. tpil njhpatpy;iy 
 

27. Venus is the Hottest Planet. Why?  
a. It rotates in the direction of East to West  
b. It has the longest rotation period  
c. Its dense atmosphere traps heat  
d. It is the nearest planet from the sun 
e. Answer not known 
nts;sp kpfTk; ntg;gkhd Nfhs; MFk; Vd;?  
a. fpof;fpypUe;J Nkw;fhfr; Rw;WfpwJ 
b. jd;id jhNd Rw;wp nfhs;s mjpfgl;r ehl;fis vLj;J nfhs;fpwJ 
c. mlu;j;jpahd thAkz;lyk; ntg;gj;ijj; jf;fitj;J nfhs;fpwJ 
d. #upaDf;F kpf mUfpy; cs;sJ 
e. tpil njhpatpy;iy 
 

28. In refrigerators, transfer of heat is in the form of,  
a. Conduction  b. Convection   c. Radiation  
d. Insulation   e. Answer not known 
Fsph;rhjdg; ngl;bapy; Vw;gLk; ntg;g ghpkhw;wk;>  
a. ntg;gf; flj;jy;  b. ntg;gr; rydk;  c. ntg;gf; fjph;tPr;R  
d. ntg;gf; fhg;G  e. tpil njhpatpy;iy 
 

29. Match the following 
Components    Uses 
A. Fuel    1. Water, air and Helium 
B. Moderator   2. Boron and cadmium 
C. Control rod   3. Graphite and Heavy water 
D. Coolant    4. Uranium 
 A B C D  
a. 4 2 3 1 
b. 4 3 2 1 
c. 4 1 2 3 
d. 4  3 1 2 
e. Answer not known 
nghUj;Jf. 
mZf;fU ciyghfq;fs;  gad;gLk; nghUs; 
A. vhpnghUs;    1. ePh;>fhw;W kw;Wk; `Pypak; 
B. jzpg;ghd;    2. Nghuhd; kw;Wk; fhl;kpak; 
C. fl;Lg;gLj;Jk; fop  3. fpuh/igl; kw;Wk; fdePh; 
D. Fsph;tpg;ghd;   4. ANudpak; 

A B C D  
a. 4 2 3 1 
b. 4 3 2 1 
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c. 4 1 2 3 
d. 4  3 1 2  e. tpil njhpatpy;iy 

30. Joule’s law of heating is 
a. H = VRt  b. H = V2Rt   c. H = IRt   
d. H = I2Rt   e. Answer not known 
[Py; ntg;g tpjp vd;gJ  
a. H = VRt  b. H = V2Rt   c. H = IRt   
d. H = I2Rt   e. tpil njhpatpy;iy 
 

31. When the car engine is started with headlights turned on, they sometimes 
become dim.  This is due to 
a. Internal resistance of car battery 
b. Knocking of the car engine 
c. Power outage by the battery 
d. Insufficient torque by the engine 
e. Answer not known 
fhhpy; Kfg;G tpsf;F vhpAk; epiyapy; vQ;rpid ,af;Fk;;NghJ> Kfg;G 
tpsf;fpd; nghypT rpy Neuq;fspy; FiwAk;. ,jw;F fhuzk;  
a. fhh; kpd;fyj;jpd; mfkpd;jil     
b. fhh; vQ;rpdpd; cs;ntbg;G     
c. fhh; kpd;fyj;jpd; kpd;ntl;L  
d. vQ;rpdpd; njhlf;f jpUg;Gtpirg; gw;whf;Fiw  
e. tpil njhpatpy;iy 
 

32. fPo;f;fhZk; $w;WfSs; rhpahdtw;iwj; Njh;e;njLf;fTk;.  
1. cyfpy; tho Ntz;ba mwhnewpapy; epd;W tho;fpd;wtd;> thDyfj;jpy; 

cs;s nja;t Kiwapy; itj;J kjpf;fg;gLthd;.  
2. mwk; vd;W rpwg;gpj;Jr; nrhy;yg;gl;lJ ,y;tho;f;if MFk;  
3. gpwiu newpg;gLj;jpj; jhDk; newpepw;Fk; ,y;tho;Nt jtj;jpDk; typik 

cilaJ  
a. 2, 3  b. 1, 3   c. 1, 2   d. 1, 2, 3   e. tpilnjhpatpy;iy 
Choose the correct statement 
1. He who on earth has lived in the conjugal state as he should live, will be 

placed among the Gods who dwell in heaven 
2. The marriage state is truly called virtue 
3. The householder who, not swerving from virtue, helps the ascetic in his 

way, endures more than those who endure penance 
a. 2, 3  b. 1, 3  c. 1, 2  d. 1, 2, 3 e. Answer not known 
 

33. Match the following 
A. Microwaves   1. To detect cracks 
B. UV radiation   2. Cooking 
C. X – rays    3. Treatment of cancer 
D. Gamma rays     4. Sterilize surgical instruments 

A B C D 
a. 2 1 3 4 
b. 2 1 4 3  
c. 2 3 4 1 
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d.  2 4 1 3 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf: 
A. ikf;Nuh miyfs;   1. ntbg;Gfisf; fz;lwpa 
B. UV fjph;fs;    2. rikay; nra;a  
C. x – fjph;fs;   3. Gw;WNeha; rpfpr;ir  
D. fhkh fjph;fs;   4. mWit rpfpr;irf; fUtpfspypUe;J Neha;f; 
     fpUkpfis ePf;f  

A B C D 
a. 2 1 3 4 
b. 2 1 4 3  
c. 2 3 4 1 
d.  2 4 1 3 
e. tpil njhpatpy;iy 
 

34. Calculate the power of the lens of spectacles necessary to rectify the defect of 
nearsightedness for a person who could see clearly only up to 2 m. 
a. 0.2 diopter  b. – 0.2 diopter  c. 0.5 diopter  
d. – 0.5 diopter  e. Answer not known 
fpllg;ghh;it FiwghLila egh; xUtuhy; 2m njhiytpw;Fs; kl;LNk njspthf 
ghh;f;f KbAk;. mthpd; Fiwghl;il ePf;Ftjw;fhd nyd;rpd; jpwidf; fhz;f.  
a. 0.2 lahg;lh; b. -0.2 lahg;lh;  c. 0.5 lahg;lh;  
d. -0.5 lahg;lh; e. tpil njhpatpy;iy 
 

35. The chain reaction in an atom bomb is 
a. Controlled nuclear fission  b. Uncontrolled nuclear fission 
c. Controlled nuclear fusion  d. Uncontrolled nuclear fusion 
e. Answer not known 
 mZFz;by; Vw;gLk; njhlh;tpid  
a. fl;Lg;ghl;bYs;s mZf;fUg; gpsT    
b. fl;Lg;ghlw;w mZf;fUg; gpsT     
c. fl;Lghl;bYs;s  mZf;fU ,izT   
d. fl;Lg;ghlw;w mZf;fU ,izT  
e. tpil njhpatpy;iy 

 
36. The blackhole at the center of the Milky Way galaxy is 

a. Centaurus A  b. Messier 87   c. Sagittarius A*   
d. Cygnus X-1    e. Answer not known 
ghy;topj;jpuspd; ikaj;jpy; cs;s fUe;Jis>  
a. nrd;lhu]; A   b. nkrpah; 87   c. rfpl;lhhpa];  A*  
d. rpf;d]; X-1    e. tpil njhpatpy;iy 

 
37. Match the following:  

Salt      Molecular Formula  
A. Washing soda    1. NaHCO3 
B. Baking soda   2. CaOCl2 
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C. Bleaching Powder   3. CaSo4. ½H2O  
D. Plaster of Paris    4. Na2CO3  
  A B C D 
a. 1 2 4 3  
b. 4 1 2 3  
c. 4 2 3 1  
d. 1 4 3 2 
e. Answer not known 
nghUj;Jf:  
 cg;G     %yf;$Wtha;g;ghL  
A. ryit Nrhlh   1. NaHCO3 
B. rikay; Nrhlh    2. CaOCl2  
C. ryitj; J}s;    3. CaSO4. ½H2O  
D. ghhp]; rhe;J    4. Na2Co3  
 A B C D 
a. 1 2 4 3  
b. 4 1 2 3  
c. 4 2 3 1  
d. 1 4 3 2 
e. tpil njhpatpy;iy 
 

38. 17Cl35 and 17Cl37 are  
a. Isotope     b. Isobars    c. Isotones  

 d. None of these   e. Answer not known 
 17Cl35 kw;Wk; 17Cl37 Mfpait  
 a. INrhNlhg;Gfs;    b. INrhghh;fs;   c. INrhNlhd;fs;
 d. Nkw;$wpa vJTk; ,y;iy e. tpil njhpatpy;iy 

 
39. Match the following 

A. s – Block            1. Transition elements 
B.  p – Block           2. Representative elements 
C.  d – Block           3. Alkali metals 
D.  f – Block           4. Inner transition elements 

A B C D 
a. 3 4 1 2       
b.  1 4 3 2 
c.  1 2 3 4 
d.  3 2 1 4 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf:  
A. s – njhFjp    1. ,ilepiyj; jdpkq;fs;  
B. p – njhFjp    2. gpujpepjpj;Jt jdpkq;fs;  
C. d – njhFjp    3. fhu cNyhfq;fs;  
D. f – njhFjp    4. cs; ,ilepiyj; jdpkq;fs;  
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 A B C D 
a. 3 4 1 2       
b.  1 4 3 2 
c.  1 2 3 4 
d.  3 2 1 4 
e. tpil njhpatpy;iy 
 

40. ,y;tho;tpy; vt;thW nghUs; <l;l Ntz;Lk; vd;W jpUts;Sth; $Wfpwhh;?  
a. gopf;F mQ;rp <l;l Ntz;Lk;  
b. typAilatd; twpatdplkpUe;J jd;typahy; <l;l Ntz;Lk;  
c. ey;$h;j;jhh; tsk;kpf;Nfhhplk; ,ue;J <l;l Ntz;Lk;  
d. Mq;fpNyah;fs; Nghy; nry;tr; Ruz;ly; %yk; <l;l Ntz;Lk;  
e. tpilnjhpatpy;iy 

 According to Thiruvalluvar, how to make money in domestic life? 
a. Fear to earn with blame and sin 
b. Powerful people to get from poor people 
c. The good ones should beg from the rich 
d. Drain wealth like the British 
e. Answer not known 
 

41. What is amalgam? 
a. More than two metals alloyed together 
b. Metals mixed with non - metals  
c. Non- metal alloyed with mercury  
d. Metal alloyed with mercury  
e. Answer not known 
,urf;fyit vd;why; vd;d?  
a. ,uz;Lf;Fk; Nkw;gl;l cNyhfq;fspd; fyit  
b. mNyhfq;fs; cNyhfq;fSld; fyf;fg;gl;l fyit  
c. mNyhfq;fSld; ghjurk; fye;j fyit  
d. cNyhfq;fSld; ghjurk; fye;j cNyhff;fyit  
e. tpil njhpatpy;iy 
 

42. Which of the following statements is/ are correct? 
I. When a neutral atom  loses an electron, it is called anion 
II. When a neutral atom gains a proton, it is called cation. 
a. I only   b. II only  c. Both I and II    
d. Neither I nor II  e. Answer not known 
gpd;tUk; $w;Wfspy; vJ / vit rhpahdJ / it?  
I. vyf;l;uhid ,of;Fk; mZ> vjph;kpd; madp vd;wiof;fg;gLk;  
II. GNuhl;lhid Vw;Fk; mZ> Neh;kpd; madp vd;wiof;fg;gLk;.  
a. I kl;Lk;    b. II kl;Lk;  
c. I kw;Wk; II   d. Nkw;fz;l ,uz;Lkpy;iy 
e. tpil njhpatpy;iy 
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43. Alkaline earth metals possess 
a. High ionisation enthalpies  b. Low  ionisation enthalpies 
c. High melting and boiling points d. Zero  ionisation enthalpies 
e. Answer not known 
fhu kz; cNyhfq;fs; _________ I ngw;wpUf;Fk;  
a. mjpf madpahf;Fk; Mw;wy;   b. Fiwe;j madpahf;Fk; Mw;wy;  
c. mjpf cUFepiy kw;Wk; nfhjpepiy  d. Rop madpahf;Fk; Mw;wy;  
e. tpil njhpatpy;iy 
 

44. According to Arrhenius theory, a substance which furnishes H3O+ ions in 
aqueous solution is, 
a. Acid  b. Alkali     c. Base    
d. Salt   e. Answer not known 
mh; P̀dpa]; $w;Wg;gb> ePhpy; fiuAk; NghJ H3O+ madpfisj; jUtJ  
a. mkpyk;  b. vhpfhuk;    c. fhuk;   
d. cg;G  e. tpil njhpatpy;iy 
 

45. Match the following  
A. Monobasic acid            1. KOH 
B.  Tribasic acid    2. Ca(OH)2 
C. Strong base   3. CH3 COOH 
D. Weak base              4. H3PO4 

           A   B C D 
a.  4 3 2 1     
b.  3 4 2 1 
c. 4 3 1 2       
d. 3 4 1 2 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf:  
A. xw;iwf; fhuj;Jt mkpyk;  1. KOH  
B. Kk;ikf; fhuj;Jt mkpyk;  2. Ca(OH)2 
C. typik kpF fhuk;   3. CH3 COOH 
D. typik Fiwe;j fhuk;  4. H3PO4 

 A B C d 
a.  4 3 2 1     
b.  3 4 2 1 
c. 4 3 1 2       
d. 3 4 1 2 
e. tpil njhpatpy;iy 

 
46. Consider the following  

Assertion (A) : Copper sulphate crystal is blue in colour 
Reason (R) : It has five molecules of water for each molecule of copper sulphate 
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a. (A) alone is correct (R) are incorrect 
b. Both (A) and (R) are correct and (R) is the correct explanation of (A)  
c. Both (A) and (R) are incorrect 
d. Both (A) and (R) are correct but (R) is not the correct explanation of (A)  
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A) : fhg;gh; ry;Ngl; gbfk; ePy epwkhf ,Uf;Fk;  
fhuzk; (R) : mjpy; xU fhg;gh; ry;Ngl; %yf;$wpw;F Ie;J ePh; %yf;$Wfs; 
cs;sd.  
a. (A) kl;Lk; rhp (R) jtW  
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) (A) tpw;F rhpahd tpsf;fkhFk;.  
c. (A) kw;Wk; (R) ,uz;Lk; jtW  
d. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R), (A) tpw;F rhpahd tpsf;fky;y  
e. tpil njhpatpy;iy 

 
47. Rusting of iron is an example of, 

a. Combustion reaction   b. Double displacement reaction   
c.  Single displacement reaction  d. Decomposition reaction 
e. Answer not known 
,Uk;G JUg;gpbj;jy;> 
a. vhpjy; tpid    b. ,ul;il ,lg;ngah;r;rp tpid  
c. xw;iw ,lg;ngah;r;rp tpid   d. rpijT tpid  
e. tpil njhpatpy;iy 

 
48. vg;gz;Gfs; cilahis ey;y tho;f;ifj; Jiz jpUts;Sth; ,ak;Gfpwhh;?  

a. jd; fztDila nghUs; tsj;Jf;Fj; jf;f tho;f;if elj;Jfpwts;  
b. jd; fztDila tUkhdj;jpw;F Nky; nryT nra;gts;. 
c. fld; ngw;whtJ gpwh; nkr;Rk;gbahf Mlk;gu tho;f;if tho;gts;. 
d. ,it VJkpy;iy 

 e. tpilnjhpatpy;iy 
According to Thiruvalluvar, which characteristics defines a good life partner? 
a. Can spend within the means of her husband, is a help in the domestic life 
b. Who one spends more than her husband's income 
c. Borrowers live a life of luxury beyond others 
d. None of these 
e. Answer not known 

 
49. The chemical present in Onion which causes irritation and tears in eyes when 

cut is ,  
a. Propanethial  s – oxide  b. Thiophene s - oxide  c. Lenthionine 
d. Thiobenzo phenon   e. Answer not known 
ntq;fhaj;ij eWf;Fk;NghJ fz;fspy; vhpr;rYld; fz;zPH; tUtjw;F 
fhuzkhd Ntjpg;nghUs;  
a. GNuhg;Ngdj;jpahy; s – Mf;i]L  b. jNahgPd; s – Mf;i]L  
c. nyd;jpNahdPd;     d. jNah ngd;Nrh gPNdhd;  
e. tpil njhpatpy;iy 



 

15 | Page  044-24339436, 42867555, 9840226187 
 

50. Find the incorrect statement 
a. Phenol is a carbolic acid with the molecular formula C6H5OH  
b. Concentrated phenol is used as a disinfectant 
c. Phenol can be used as surgical antiseptic      
d. Natural adhesives are made from starch 
e. Answer not known 
jtwhd $w;iwf; fz;lwpf:  
a. gPdhy; vd;gJ C6H5OH vd;Dk; %yf;$W tha;g;ghL nfhz;l fhh;ghypf; 

mkpyk;  
b. mlh; gPdhy; fpUkpehrpdpahfg; gad;gLj;jg;gLfpwJ.  
c. gPdhy;> mWit rpfpr;irapy; fpUkp ehrpdpahfTk; cgNahfg;gLfpwJ.  
d. ,aw;if xl;Lg;nghUs;fs;> ];lhh;r;rpypUe;J vLf;fg;gLfpwJ.  
e. tpil njhpatpy;iy 

 
51. Alkenes are represented by the general formula,  

a. CnH2n+2   b. CnH2n    c. CnH2n-n   
d. CnH2n+1O   e. Answer not known 
my;fPd;fs; ______ vd;w nghJ tha;g;ghl;bidf; nfhz;Ls;sd. 
a. CnH2n+2   b. CnH2n    c. CnH2n-n   
d. CnH2n+1O   e. tpil njhpatpy;iy 
 

52. Reduction is the chemical reaction which involves  
I. Addition of Oxygen II. Addition of hydrogen 
III. Loss of electron  IV. Gain of electron 
a. I (or) III       b. I (or) IV     c. II (or) III  
d. II (or) IV   e. Answer not known 
xLf;fk; vDk; NtjptpidahdJ>  
I. Mf;]p[id Nrh;j;jy;  II. i`l;u[id Nrh;j;jy;  
III. vyf;l;uhid ,oj;jy;  IV. vyf;l;uhid Vw;wy;  
a. I my;yJ III  b.I my;yJ IV    c. II my;yJ III 
d. II my;yJ IV   e. tpil njhpatpy;iy 
 

53. Bordeaux mixture is 
a. CuSO4  + Ca(OH)2 b. CuSO4 + CaCl2  c. ZnSO4 + Ca(OH)2  
d. ZnSO4 + CaCl2  e. Answer not known 
Nghh;lhf;]; fyit vd;gJ 
a. CuSO4 + Ca(OH)2 b. CuSO4 + CaCl2  c. ZnSO4 + Ca(OH)2  
d. ZnSO4 + CaCl2  e. tpil njhpatpy;iy 
 

54. Which of the following is an example for Aestivation animals? 
a. Turtle  b. Bats     c. Snail   
d. Lizard  e. Answer not known 
gpd;tUtdtw;Ws; vJ Nfhilfhy cwf;f tpyq;FfSf;F vLj;Jf;fhl;L MFk;? 
a. Mik  b. ntsthy;    c. ej;ij   
d. gy;yp  e. tpil njhpatpy;iy 
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55. Consider the following statement 
Assertion (A): Animal cells are generally smaller than plants cells 
Reason (R): In animal cells, vacuoles are generally smaller than plant cell. 
a. Both A and R correct and R is the correct explanation of A 
b. Both A and R correct and R is not the correct explanation to A 
c. A is true R is false 
d. Both A and R are false 
e. Answer not known 
gpd;tUk; thf;fpaq;fis Ma;f 
$w;W (A): tpyq;F nry;fs; nghJthf jhtu nry;fis tpl rpwpaJ 
fhuzk; (R): tpyq;F nry;fspd; Ez;Fkpo;fs; jhtur; nry;fis tpl rpwpaJ 
a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A kw;Wk; R jtW 
e. tpil njhpatpy;iy 
 

56. gpd;tUtdtw;iw Ma;f 
$w;W 1 (S1) : kidtp ew;gz;G cilatshdhy; tho;f;ifapy; ,y;yhjJ  
   vd;d ,Uf;fpwJ?  
$w;W 2 (S2) : kidtp ew;gz;G ,y;yhjtshdhy; tho;f;ifapy; gpw  
   nry;tq;fs; ,Ue;jhYk; ,y;yhjjhfNt fUjg;gLk;. 
a. S1 jtW Mdhy; S2 rhp  
b. S1 rhp Mdhy; S2 jtW  
c. S1 kw;Wk; S2 ,uz;Lk; rhp  
d. S1 kw;Wk; S2 ,uz;Lk; jtW  
e. tpilnjhpatpy;iy 
Consider the following statements 
1. If the wife is virtuous, what is there that is not in life? 
2. If she be without excellence, what does (he) possess? 
a. 1 incorrect, 2 correct   b. 1 correct, 2 incorrect 
c. 1 and 2 are correct   d. 1 and 2 are incorrect 
e. Answer not known 
 

57. Which of the following is called “Storage tanks” of the cell? 
a. Vacuoles   b. Golgi body  c. Ribosomes   
d. Peroxisomes  e. Answer not known 
gpd;tUtdtw;Ws; vJ nry;ypd; “Nrkpg;Gf; fplq;F” vd;W miof;fg;gLfpwJ? 
a. Ez;Fkpo;fs;  b. Nfhy;if cWg;G  c. hpNghNrhk;fs;  
d. nguhf;rpNrhk;fs;  e. tpil njhpatpy;iy 
 

58. Currently Indian scientists at CDRI (Central Drug Research Institute – 
Lucknow) have made a nano formulation from the Palak (Pala Spinach) to cure 
which disease? 
a. Gastric ulcer  b. Osteoarthritis  c. Diabetes mellitus  
d. Epilepsy   e. Answer not known 



 

18 | Page  044-24339436, 42867555, 9840226187 
 

ve;j Neha;f;fhd kUe;jpid ghyf;fPiuapypUe;J kj;jpa kUe;J Muha;r;rp epWtd 
(CDRI – yf;Ndh) tpQ;Qhdpfs; ehNdh cUthf;fj;jpd; %yk; 
cUthf;fpAs;sdh;? 
a. tapw;Wg;Gz;  b. %l;L Klf;Fthjk; c. ePhpopT Neha;  
d. fhf;if typg;G Neha; e. tpil njhpatpy;iy 
 

59. DOTS therapy is given to which disease? 
a. Leprosy b. Tuberculosis c. AIDS  d. Anaemia    e. Answer not known 
DOTS rpfpr;ir ve;j Neha;f;F mspf;fg;gLfpwJ? 
a. njhONeha;  b. fhrNeha;   c. va;l;];   
d. ,uj;jNrhif e. tpil njhpatpy;iy 
 

60. Which of the following diseases caused by the Varicella-Zoster virus? 
a. Small pox b. Mumps c. Chickenpox  d. Rubella e. Answer not known 
gpd;tUk; Neha;fSs; vJ thhpnry;yh N[h];lh; iturhy; Vw;gLfpwJ? 
a. nghpak;ik  b. g+l;Ljhsk;ik  c. rpd;dk;ik  
d. &ngy;yh  e. tpil njhpatpy;iy 
 

61. Consider the following statement 
Assertion (A): The heart beat is rapid in Anemic patient 
Reason (R): The heart pumps more blood to make up for the lack of oxygen in 
the Anemic patient’s blood  
a. Both A and R correct and R is the correct explanation to A 
b. Both A and R correct and R is not the correct explanation to A 
c. A is false, R is true 
d. Both A and R are false 
e. Answer not known 
gpd;tUk; thf;fpaq;fis Ma;f 
$w;W (A): ,uj;j Nrhif Nehahspfspd; ,jaj;Jbg;G Ntfkhf ,Uf;Fk;. 
fhuzk; (R): ,uj;j Nrhif Nehahspfspd; ,uj;jj;jpYs;s Mf;rp[d; 
Fiwghl;il rhpnra;a ,jak; Ntfkhf Jbj;J mjpfkhd ,uj;jj;ij 
ntspNaw;WfpwJ. 
a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fk; MFk; 
b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A jtW R rhp 
d. A kw;Wk; R ,uz;Lk; jtW 
e. tpil njhpatpy;iy 
 

62. Consider the following statement 
Assertion (A): As a general rule iron supplements should be given orally, not to 
be injected. 
Reason (R): If iron supplements should be injected, it leads to dangerous effect 
such as pain and bleeding into the muscle. 
a. Both A and R true and R is correct explanation of A 
b. Both A and R true and R is not the correct explanation to A 
c. Both A and R are false 
d. A is true, R is false 
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e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): nghJ tpjpapd;gb> ,Uk;Gr;rj;J kUe;Jfis tha;topahf 
cl;nfhs;syhk; Crpfs; %yk; nrYj;jf;$lhJ. 
fhuzk; (R): ,Uk;Gr;rj;J kUe;Jfis Crpfs; %yk; vLj;Jf;nfhz;lhy; typ 
kw;Wk; jirfspy; ,uj;jf;frpT Nghd;w Mgj;jhd tpisTfis Vw;gLj;Jk;. 
a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A kw;Wk; R ,uz;Lk; jtW 
d. A rhp R jtW 
e. tpil njhpatpy;iy 
 

63. Consider the following statement 
Assertion (A): Unripe fruits change its colour during ripening 
Reason (R): As fruits ripen chloroplasts change to chromoplasts 
a. Both A and R true and R is correct explanation of A 
b. Both A and R true and R is not the correct explanation to A 
c. A is true and R is false 
d. Both A and R are false 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): gOf;fhj fdpfs; gOf;Fk;NghJ mjDila epwk; khWfpd;wd. 
fhuzk; (R): goq;fs; gOf;Fk;NghJ FNshNuhgpsh];l;Lfs; 
FNuhNkhgpsh];l;Lfshf khWfpd;wd. 
a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 

c. A rhp kw;Wk; R jtW 
d. A kw;Wk; R ,uz;Lk; jtW 
e. tpil njhpatpy;iy 
 

64. ,y;tho;f;ifapy; ____________ vd;Dk; cWjpepiy ,Uf;fg; ngw;why;> 
ngz;iztplg; ngUikAilait NtW vd;d ,Uf;fpd;wd?  
a. nrhy;td;ik  b. fw;G   c. Fw;wq;fbjy;  
d. kbapd;ik  e. tpilnjhpatpy;iy 
What is more excellent than a wife, if she possess the stability of _________? 
a. power of speech b. chastity   c. The correction of faults 
d. Unsluggishness e. Answer not known  
 

65. If the virus is found outside the cell (extracellular) it is known as ______. 
a. Virions   b. prions     c. viroids    
d. Freons   e. Answer not known 
itu];fs; nry;Yf;F ntspNa fhzg;gLNkahdhy; (extracellular) mit 
_________ vd;W miof;fg;gLfpd;wd? 
a. tphpahd;fs; b. gphpahd;fs;    c. ituha;Lfs;   
d. gphpahd;fs;  e. tpilnjhpatpy;iy 
 

https://www.ytamizh.com/thirukural/chapter-61/
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66. Match the following:  
 List – I     List – II  

A. Diplococcus    1. Rod shape  
B. Streptococcus    2. Chain form  
C. Staphylococcus    3. Pair form  
D. Bacilli     4. Bunche form  
 A B C D 
a. 4 2 1 3  
b. 3 2 4 1 
c. 3 4 2 1  
d. 2 3 4 1 
e. Answer not known 
nghUj;Jf: 
 gFjp – I    gFjp – II 
A. bg;Nshfhf;f];   1. Nfhy; tbtk;  
B. ];l;nug;Nlhfhf;f];  2. rq;fpyp tbtk;  
C. ];iligNyhfhf;f];  3. ,iz tbtk;  
D. Ngrpy;iy     4. nfhj;J tbtk;  
 A B C D 
a. 4 2 1 3  
b. 3 2 4 1 
c. 3 4 2 1  
d. 2 3 4 1 
e. tpilnjhpatpy;iy 

 
67. Consider the following statement about Amitosis  

1. It is the simplest mode of cell division  
2. It occurs in unicellular animals  
3. Karyokinesis occurs first  
4. Cytokinesis occurs finaly  
a. 1, 2, 3, 4 correct   b. 1, 2 correct 3, 4 incorrect   c. 1, 2, 3, 4 
incorrect  
d. 2, 4 correct 1, 3 incorrect e. Answer not known 
Vikl;lhrp]; gw;wp gpd;tUk; thf;fpaq;fisf; fUj;jpy; nfhs;.  
1. Vikl;lhrp]; vd;gJ xU vspaKiw nry; gFg;ghFk;  
2. ,J xU nry; tpyq;Ffspy; epfo;fpwJ  
3. Kjypy; NfhpNahifdrp]; eilngWfpwJ  
4. ,Wjpahf irl;Nlhifdrp]; eilngWfpwJ  
a. 1, 2, 3, 4 rhp   b. 1, 2 rhp 3, 4 rhpay;y   c. 1, 2, 3, 4 rhpay;y 
d. 2, 4 rhp 1, 3 rhpay;y  e. tpilnjhpatpy;iy 

 
68. Consider the following statements  

Assertion (A) : Mitosis is also called as "Equational division". 
Reason (R) : During Mitosis each daughter cell having the same amount of 
DNA  

same number of chromosomes and genes as the parent cells.  



 

22 | Page  044-24339436, 42867555, 9840226187 
 

  



 

23 | Page  044-24339436, 42867555, 9840226187 
 

a. Both (A) and (R) are correct and (R) is the correct explanation to (A) 
b. Both (A) and (R) are correct , and (R) is not the correct explanation to (A) 
c. (A) is True (R) is False  
d. (A) is False (R) is True  
e. Answer not known 
gpd;tUk; thf;fpaq;fisf; fUj;jpy; nfhs;  
$w;W (A) : ikl;lhrp]; xU rkgFg;G vd;W miof;fg;gLfpwJ 
fhuzk; (R): ikl;lhrp]; gFg;gpy; cUthFk; xt;nthU Nra; nry;Yk; xNu 
msTila DNA cl;fU> xNu vz;zpf;ifapyhd [Pd; kw;Wk; 
FNuhNkhNrhk;fisf; nfhz;L jha; nry;fspy; cs;sJ NghyNt mike;Js;sd.  
a. (A) kw;Wk; (R) rhp NkYk; (R), (A)f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp Mdhy; (R), (A) f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpilnjhpatpy;iy 

 

69. Match the following: 
List I     List II  
A. Interphase   1. Division of nucleus  
B. Karyokinesis  2. Nucleolus disappear  
C. Prophase    3. Resting phase 
D. Cytokinesis   4. Division of Cytoplasm  

A B C D 
a. 2 1 4 3 
b.  4 1 2 3  
c. 4 2 1 3  
d. 3 1 2 4 
e. Answer not known 
nghUj;Jf:  
gFjp I   gFjp II 
A. ,ilepiy  1. cl;fU gFg;G  
B. NfhpNahifdrp];  2. cl;fUkzp kiwfpwJ  
C. GNuh epiy  3. Xa;T epiy  
D. irl;Nlhifdrp]; 4. irl;Nlhgpshr gFg;G  

A B C D 
a. 2 1 4 3 
b.  4 1 2 3  
c. 4 2 1 3  
d. 3 1 2 4 
e. tpilnjhpatpy;iy 

 

70. Consider the following statements about mitosis.  
1. Production of diploid daughter cells  
2. occurs in reproductive cells  
3. Consists of single division  
4. repair of damaged and wounded tissues  
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a. 1, 2, 3, 4 correct    b. 1, 4 correct 2, 3 incorrect  
c. 1, 3,4 correct 2 incorrect   d. 1, 2 4 correct 3 incorrect  
e. Answer not known 
ikl;lhrp]; gw;wpa gpd;tUk; thf;fpaq;fis fUj;jpy; nfhs;. 
1. ,Uka Nra; nry;fis cUthf;FfpwJ 
2. ,dr;nry;fspy; epfo;fpwJ  
3. xU gFg;ig kl;Lk; nfhz;lJ 
4. ghjpg;gile;j kw;Wk; fhakile;j nry;fis GJg;gpf;fpwJ. 
a. 1, 2, 3, 4 rhp    b. 1, 4 rhp 2, 3 rhpay;y  
c. 1, 3, 4 rhp 2 rhpay;y   d. 1, 2, 4 rhp 3 rhpay;y  
e. tpilnjhpatpy;iy 

 
71. Find the correct statements about Photosynthesis 

1. Photosynthesis means “building up with the help of light. 
2. The light energy is converted into chemical energy. 
3. The end product of photosynthesis is glucose. 
4. Plants take in O2 for photosynthesis and take in CO2 for cellular respiration. 
a. 1, 2 correct 3, 4 incorrect  b. 1, 2, 3 correct 4 incorrect 
c. 1, 2, 3, 4 correct   d. 1, 3, 4 correct 2 incorrect 
e. Answer not known 
xspr;Nru;f;if gw;wpa rhpahd thf;fpaq;fis fz;Lgpbf;fTk; 
1. xspr;Nru;f;if vd;w nrhy;Yf;F “xspapd; cjtpahy; cUthf;fg;gLjy;” 
vd;gJ nghUs;. 
2. ,e;epfo;r;rpapy; xsp Mw;wy; Ntjp Mw;wyhfp khw;wg;gLfpd;wJ. 
3. xspr;Nru;f;ifapd; ,Wjp tpisnghUs; FSf;Nfh];. 
4. jhtuq;fs; xspr;Nru;f;ifapd; nghOJ O2 it vLj;Jf;nfhs;fpwJ nry; 
Rthrj;jpd; nghOJ CO2 it vLj;Jf;nfhs;fpwJ. 
a. 1> 2 rhp 3> 4 jtW  b. 1> 2> 3 rhp 4 jtW 
c. 1> 2> 3> 4 rhp   d. 1> 3> 4 rhp 2 jtW 
e. tpilnjhpatpy;iy 

 
72. vj;jifats;> nga; vd;W nrhy;y kio nga;Ak; vd;W jpUts;Sth; 

$Wfpd;whh;?  
a. ehl;ilNa MSfpd;w ngz; jiyth;  
b. fztd; <l;Lfpd;w nghUs; tsj;jpw;Nfw;g tho;f;if elj;Jgts; 
c. jd; Rw;wj;jhhpd; eyk; tpUk;Ggts;  
d. jd; fztidNa nja;tkhff; nfhz;L njhOJ JapnyOfpd;wts;  

 e. tpilnjhpatpy;iy 
What characteristics of a woman who would say to rain and it was raining? 
a. The female leader who rules the country 
b. Can spend within the means of her husband, is a help in the domestic life 
c. She wants the good of her neighbours 
d. She worships her husband as a deity 
e. Answer not known 
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73. Match the following 
Vitamin    Deficiency Disorder 
A. Retinol    1. Sterility 
B. Calciferol    2. Rickets 
C. Tocopherol   3. Xerophthalmia 
D. Derivative of Quinone  4. Blood clotting is prevented. 

A B C D 
a. 3 2 4 1 
b. 1 2 4 3 
c. 1 2 3 4 
d. 3 2 1 4 
e. Answer not known 
nghUj;Jf 
itl;lkpd;    FiwghL Neha;fs; 
A. nul;bdhy;    1. kyl;Lj;jd;ik 
B. fhy;rp/nguhy;   2. upf;nfl;]; 
C. NlhNfh/nguhy;   3. rPNuhg;jhy;kpah 
D. FapNdhdpypUe;J  4. ,uj;jk; ciwjy; eilngwhJ 
ngwg;gLk; Ntjpg;nghUs;      

A B C D 
a. 3 2 4 1 
b. 1 2 4 3 
c. 1 2 3 4 
d. 3 2 1 4 
e. tpilnjhpatpy;iy 

 

74. Match the following 
List I    List II  
A. Vitamin B1  1. Pyridoxine 
B. Vitamin B2  2. Cyanocobalamine 
C. Vitamin B3  3. Niacin 
D. Vitamin B6  4. Riboflavin 
E. Vitamin B12  5. Thiamine 

A B C D E 
a. 5 4 3 1 2 
b. 5 3 4 1 2 
c. 5 3 1 4 2 
d. 3 4 5 1 2 
e. Answer not known 
nghUj;Jf 
A. itl;lkpd; B1  1. iguplhf;]pd; 
B. itl;lkpd; B2  2. iraNdhNfhghyikd; 
C. itl;lkpd; B3   3. epahrpd; 
D. itl;lkpd; B6  4. hpNgh/gpNstpd; 
E. itl;lkpd; B12  5. jakpd; 
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A B C D E 
a. 5 4 3 1 2 
b. 5 3 4 1 2 
c. 5 3 1 4 2 
d. 3 4 5 1 2 
e. tpilnjhpatpy;iy 

 
75. Match the following 

List I    List II 
A. Vitamin A  1. Calciferol 
B. Vitamin D   2. Tocopherol 
C. Vitamin E   3. Retinol 
D. Vitamin K  4. Coumarol 

A B C D 
a. 4 1 2 3 
b. 4 1 3 2 
c. 3 1 2 4 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf 
gFjp – I   gFjp – II 
A. itl;lkpd; A  1. fhy;rp/nguhy; 
B. itl;lkpd; D  2. NlhNfh/nguhy; 
C. itl;lkpd; E  3. nul;bdhy; 
D. itl;lkpd; K  4. nfskuhy; 

A B C D 
a. 4 1 2 3 
b. 4 1 3 2 
c. 3 1 2 4 
d. 2 1 4 3 
e. tpilnjhpatpy;iy 
 

76. Match the following 
Vitamins   Deficiency Disorder 
A. Thiamine   1. Pernicious anaemia 
B. Riboflavin   2. Pellagra 
C. Niacin   3. Beriberi 
D. Cyanocobalamine 4. Cheilosis 
E. Ascorbic acid  5. Scurvy 

A B C D E 
a. 3 4 2 1 5 
b. 3 2 4 1 5 
c. 4 2 1 3 5 
d. 4 2 3 1 5 
e. Answer not known 
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nghUj;Jf 
itl;lkpd;fs;  FiwghL Neha;fs; 
A. jakpd;   1. capiu Nghf;Fk; ,uj;jNrhif 
B. upNgh/gpNstpd;  2. ngyhf;uh 
C. epahtpd;   3. nghpnghp 
D. iraNdhNfhghyikd; 4. fPypahrp]; 
E. m];fhu;gpf; mkpyk; 5. ];fu;tp 

A B C D E 
a. 3 4 2 1 5 
b. 3 2 4 1 5 
c. 4 2 1 3 5 
d. 4 2 3 1 5 
e. tpilnjhpatpy;iy 

   
77. Pasteurization involves boiling of milk to a temperature of ______ for about 

_______ and suddenly cooling to destroy the microbes present in the milk. 
a. 53°C, 25 minutes   b. 63°C, 30 minutes   c. 73°C, 30 minutes   
d. 73°C, 30 minutes  e. Answer not known 
gh];lh; gjdk; Kiwapy; ghy; ________ ntg;gepiyapy; ______ epkplq;fs; 
nfhjpf;fitf;fg;gl;L clNd Fsp&l;Lk;nghOJ ghypy; cs;s Ez;Zaphpfs; 
mopf;fg;gLfpd;wd.  
a. 53° C, 25 epkplq;fs;  b. 63° C, 30 epkplq;fs;  c. 73° C, 25 epkplq;fs;  
d. 73° C, 30 epkplq;fs;  e. tpilnjhpatpy;iy 

 
78. Match the following : 

List I     List II  
A. Pomology   1. Vegetable farming  
B. Olericulture    2. Flowers farming  
C. Floriculture    3. Fruit farming  
D. Landscape Gardening  4. Gardening  farming  

A B C D 
a. 3 1 2 4  
b. 1 3 2 4  
c. 2 3 1 4  
d. 3 2 1 4  
e. Answer not known 
nghUj;Jf:  
gFjp – I     gFjp – II 
A. Nghkhy[p   1. fha;fwpg; gz;iz  
B. Xyphpfy;rh;   2. G+e;Njhl;lg; gz;iz  
C. GNshhpfy;rh;   3. goq;fs; gz;iz  
D. Nyz;l;];Nfg; fhh;ldpq;  4. epy mikTj; Njhl;lq;fs;  
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A B C D 
a. 3 1 2 4  
b. 1 3 2 4  
c. 2 3 1 4  
d. 3 2 1 4  
e. tpilnjhpatpy;iy 

 
79. Match the following: 

Bio fertiliser    types  
A. Rhizobium    1. Aquatic fern 
B. Mychorriza   2. Nitrogen fixing bacteria  
C. Azolla    3. Soil bacterium  
D. Azospirillum    4. Fungi  

A B C D 
a. 3 4 1 2  
b. 4 3 1 2  
c. 2 4 3 1  
d. 3 4 2 1  
e. Answer not known     
nghUj;Jf:  
caphp cuk;    tif  
A. iuNrhgpak;    1. ePh; nguzp  
B. ikf;Nfh iurh   2. iel;u[id epiyg;gLj;Jk; ghf;Bhpah  
C. mNrhyh     3. kz; tho; ghf;Bhpak; 
D. mNrh];ighpy;yk;   4. G+Q;ir  

A B C D 
a. 3 4 1 2  
b. 4 3 1 2  
c. 2 4 3 1  
d. 3 4 2 1   
e. tpilnjhpatpy;iy  

 
80. Gfiof; fhf;f tpUk;Gk; kidtp ,y;yhjth;f;F> ,fo;e;J NgRk; gifth; Kd; 

_________ Nghy; elf;Fk; ngUkpj eil ,y;iy.  
 a. Qkyp  b. VW  c. Ntok; d. ghp   e. tpilnjhpatpy;iy 

The man whose wife seeks not the praise (of chastity) cannot walk with _____ 
like stately step, before those who revile them 
a. gnamali  b. eru  c. vezham d. pari      e. answer not known 

 

81. Match the following:  
Nitrogen Cycle    Microorganism  
A. Nitrogen fixation  1. Pseudomonas  
B. Ammonification    2. Nitrosomonas  
C. Nitrification    3. Nostoc  
D. Denitrification     4. Fungi  

A B C D 
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a. 3 4 2 1  
b. 4 3 2 1 
c. 4 3 1 2  
d. 3 4 1 2 
e. Answer not known 
nghUj;Jf:  
iel;u[d; Row;rp   Ez;Zaph;fs;  
A. iel;u[d; epiyepWj;Jjy;  1. #NlhNkhdh]; 
B. mk;Nkhdpahthjy;   2. iel;uNrhNkhdh];  
C. iel;Nul;lhjy;    3. eh];lhf;  
D. iel;u[d; ntspNaw;wk;  4. G+Q;ir  

A B C D 
a. 3 4 2 1  
b. 4 3 2 1 
c. 4 3 1 2  
d. 3 4 1 2 
e. tpilnjhpatpy;iy 

 
82. Match the following:  

List – I    List – II  
A. Dorsiventral leaf   1. Green colour  
B. Isobilateral leaf    2. Yellow, red colour  
C. Chloroplast    3. Monocot plant  
D. Chromoplast    4. Colourless  
E. Leucoplast    5. Dicot plant  

A B C D E 
a. 3 5 2 1 4  
b. 5 3 1 2 4  
c. 5 3 2 1 4  
d. 3 5 4 2 1 
e. Answer not known  
nghUj;Jf: 
gFjp I       gFjp II  
A. Nky;fPo; NtWghL nfhz;l ,iy   1. gr;irepwk;  
B. ,UGwKk; xj;j mikg;Gila ,iy   2. kQ;rs;> rptg;G epwk;  
C. FNshNuhgpsh];l;     3. xUtpj;jpiy jhtuk;  
D. FNuhNkhgpsh];l;    4. epwkw;wJ  
E. ypA+f;Nfh gpsh];l;    5. ,Utpj;jpiy jhtuk;  

A B C D E 
a. 3 5 2 1 4  
b. 5 3 1 2 4  
c. 5 3 2 1 4  
d. 3 5 4 2 1 
e. tpilnjhpatpy;iy  

83. What hormoners help for formation of parthenocarpic fruits? 
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a. Auxins  b. Abscisic Acid  c. Gibberellins  
d. a and c  e. Answer not known 
ghh;j;jpNdh fhh;gpf; fdpfs; cUthf;fj;jpw;F ve;j `hh;Nkhd;fs; cjTfpwJ?  
a. Mf;rpd;fs;  b. Mg;rprpf; mkpyk;  c. [pg;uypd;fs;   
d. a kw;Wk; c  e. tpilnjhpatpy;iy  

 
84. Application of cytokinin delays the process of ageing in plants. This is called 

_________ 
a. Richmond Lang effect  b. Purkinje effect 
c. Holtzman effect   d. Gibbs – Donnan effect 
e. Answer not known 
irl;Nlhifdpd;fisg; gad;gLj;Jk;NghJ jhtuq;fs; KJikailtJ 
jhkjg;Lj;jg;gLfpwJ. ,jw;F _______ vd;W ngah;.  
a. hpr;khz;l; yhq;f; tpisT b. gh;fpd;[p tpisT  
c. N`hy;l;]; Nkd; tpisT  d. fpg;]; - ^dhd; tpisT  
e. tpilnjhpatpy;iy 

 
85. Which is a gaseous plant hormone ? 

a. Auxin  b. Cytokinin    c. Ethylene   
d. ABA  e. Answer not known 
thA epiyapy; cs;s jhtu `hh;Nkhd; vJ?  
a. Mf;rpd;  b. irl;Nlhifdpd;   c. vj;jpypd;   
d. ABA   e. tpilnjhpatpy;iy 

 

86. The term "Chromosomes" was first coined by _________ in 1888.  
a. Waldeyer    b. Robert Brown   c. Robert Hooke   
d. Theodor Schwann  e. Answer not known 
________ vd;gth; 1888 y; "FNuhNkhNrhk;fs;" vd;w nrhy;iy Kjd; Kjypy; 
cUthf;fp gad;gLj;jpdhh;. 
a. thy;Nlah;   b. uhgh;l; gpnusd;   c. uhgh;l; `Pf;  
d. jpNahlh; ];rthd; e. tpilnjhpatpy;iy 

 

87. Find the correct statements  
1. Majority of animal and bacterial  viruses are DNA viruses. 
2. HIV is the animal virus which possess RNA 
3. Plant viruses generally contain RNA 
4. Cauliflower Mosaic virus possess DNA  
a. 1, 3 correct 2, 4 incorrect  b. 1, 2, 3, correct 4 incorrect  
c. 1, 2, 3, 4 correct    d. 2, 4 correct 1, 3 incorrect   
e. Answer not known 
rhpahd thf;fpaq;fisf; fz;Lgpb.  
1. ngUk;ghyhd tpyq;F> ghf;Bhpa itu];fs; DNA itu];fshFk;.  
2. HIV tpyq;F itu]hf ,Ug;gpDk; RNA itf; nfhz;Ls;sJ 
3. jhtu itu];fs; nghJthf RNA itf; nfhz;Ls;sd.  
4. fhyp/gpsth; nkhirf; itu];fs; DNA itg; ngw;Ws;sd.  
a. 1, 3 rhp 2, 4 rhpay;y   b. 1, 2, 3 rhp 4 rhpay;y  
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c. 1, 2, 3, 4 rhp    d. 2, 4 rhp 1, 3 rhpay;y  
e. tpilnjhpatpy;iy 

 
88. jhd; Xh; cjtpAk; Kd; nra;ahjpUf;fg; gpwh; jdf;Fr; nra;j cjtpf;F 

___________ I ifkhwhff; nfhLj;jhYk; <L Mf KbahJ.  
a. kz;Zyif   b. tpz;Zyif   c. ghjhsTyif   

 d. a kw;Wk; b   e. tpilnjhpatpy;iy 
The gift of _______ is not an equivalent for a benefit which is conferred where 
none had been received 
a. earth   b. heaven   c. underground world 
d. a and b   e. answer not known 

 
89. Match the following:  

Scientist     System of classification  
A. carl Linnaeus    1. four kingdom 
B. Ernst Haeckel   2. Five kingdom  
C. Copeland    3. Two kingdom  
D. R.H. Whittaker    4. Three Kingdom  
 A B C D 
a. 3 4 1 2  
b. 4 3 1 2  
c. 3 1 4 2  
d. 1 4 3 2 
e. Answer not known  
nghUj;Jf:  
mwptpayhsh;fs;    tifg;ghl;L Kiwfs;  
A. fhh;y; ypd;Nda];  1. ehd;F ngUk;gphpT  
B. Vh;nd];l; n`f;Nfy;  2. Ie;J ngUk;gphpT  
C. Nfhg;Nyz;l;   3. ,uz;L ngUk;gphpT  
D. R.H. tpl;Nlf;fh;   4. %d;W ngUk;gphpT  
 A B C D 
a. 3 4 1 2  
b. 4 3 1 2  
c. 3 1 4 2  
d. 1 4 3 2 
e. tpilnjhpatpy;iy  

 
90. What is the temperature of cryopreservation using liquid nitrogen? 

a. -196°C  b. 196°C   c. -167°C   
d. -169°C   e. Answer not known 
jput iel;u[id gad;gLj;Jk; ciwFsph;ghJfhg;gpd; ntg;gepiy vd;d?  
a. -196°C  b. 196°C   c. -167°C   
d. -169°C   e. tpilnjhpatpy;iy 

 
 
91. The thickness of the ozone column of air is measured by ________ units.  
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a. Dobson    b. Erlang    c. centimorgan   
d. Fermi    e. Answer not known 
XNrhd; mLf;fpd; jbkd; ________ myFfshy; mstplg;gLfpd;wd.  
a. lhg;]d;   b. vh;yhq;   c. nrd;bNkhh;fd; 
d. ngh;kp    e. tpilnjhpatpy;iy 

 
92. Which of the following plant indicators indicate of heavy metal contamination 

in environment? 
a. Robinia Pseudoacacia  b. Petunia   c. Lichens  
d. Rose    e. Answer not known 
gpd;tUk; jhtu Rl;bfhl;bfSs; vJ Rw;Wr;#oypy; fd cNyhfj; 
J}a;ikf;Nfl;ilf; Rl;bf;fhl;Lk;? 
a. nuhgPdpah #Nlh mNfrpah b. ngl;^dpah   c. iyf;fd;fs;  
d. Nuh[h     e. tpilnjhpatpy;iy 

 
93. Match the following:  

List – I      List – II  
A. World health day    1. 1st December  
B. World Malaria day    2. 7th April  
C. World AIDS day    3. 25th April 
D. World Anti-Tuberculosis day  4. 24th March  

A B C D 
a. 2 4 1 3  
b. 2 3 1 4  
c. 3 2 1 4  
d. 1 2 3 4 
e. Answer not known  
nghUj;Jf:  
gFjp – I      gFjp – II 
A. cyf Rfhjhu jpdk;    1. brk;gh; 1 
B. cyf kNyhpah jpdk;    2. Vg;uy; 7 
C. cyf va;l;]; jpdk;    3. Vg;uy; 25  
D. cyf fhrNeha; jpdk;    4. khh;r; 24 

A B C D 
a. 2 4 1 3  
b. 2 3 1 4  
c. 3 2 1 4  
d. 1 2 3 4 
e. tpilnjhpatpy;iy  
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94. Match the following:  
Disease    Causative organism  
A. Mumps    1. Bordetalla pertusis  
B. Chicken pox   2. Varicella Zoster  
C. Diptheria    3. Myxovirus  
D. Whooping cough 4. Cornyebacterium diphtheriae  

A B C D 
a. 3 2 4 1  
b. 2 3 4 1  
c. 1 3 4 2  
d. 3 1 4 2 
e. Answer not known  
nghUj;Jf:  
Neha;     Neha;f;fhuzp  
A. nghd;Df;F tPq;fp  1. Nghh;nlnly;yh ngh;Lrp]; 
B. rpd;dk;ik    2. thhpnry;yh N]h];lh;  
C. b/g;jPhpah    3. ikf;Nrhitu];  
D. ff;Fthd; ,Uky;  4. Nfhh;dpghf;Bhpak; b/g;jPhpNa  

A B C D 
a. 3 2 4 1  
b. 2 3 4 1  
c. 1 3 4 2  
d. 3 1 4 2 
e. tpilnjhpatpy;iy  

 
95. ,d;d gad; fpilf;Fk; vd;W Muhahky; xUtd; nra;j cjtpapd; 

md;Gilikia Muha;e;jhy; mjd; ed;ik ___________ Itpa; nghpajhFk;.  
a. ngstk;    b. Mh;fyp   c. fly;  
d. ,it midj;Jk;  e. tpilnjhpatpy;iy  
If we weigh the excellence of a benefit which is conferred without weighing the 
return, it is larger than the ________ 
a. pavvam   b. aarkali   c. kadal 
d. all of these   e. Answer not known 

 
96. Which of the following is the insect vector borne disease?  

1. Chikungunya   2. Dengue   3. Malaria   
4. Filaria    5. Swine flu  
a. 1, 2, 3, 4, 5 correct   b. 1, 2, 3, 4 correct 5 incorrect  
c. 2, 3, 4 correct 1, 5 incorrect  d. 1, 2, 3 correct 4, 5 incorrect  
e. Answer not known 
gpd;tUtdtw;Ws; vJ G+r;rpfs; flj;jp top guTk; Neha;fshFk;? 
1. rpf;Fd;Fdpah   2. nlq;F    3. kNyhpah    
4. /igNyhpah   5. ];itd; GS  
a. 1, 2, 3, 4, 5 rhp    b. 1, 2, 3, 4 rhp 5 rhpay;y  
c. 2, 3, 4 rhp 1, 5 rhpay;y   d. 1, 2, 3 rhp 4> 5 rhpay;y  
e. tpilnjhpatpy;iy 
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97. Match the following:  
Disease    causative organism  
A. Swine flu   1. Human Papilloma virus  
B. Avian flu   2. Herpes simplex virus  
C. Genital warts   3. Influenza virus H1N1 
D. Genital Herpes   4. Influenza virus H5N1 

A B C D 
a. 3 4 1 2  
b. 4 3 1 2  
c. 3 1 4 2  
d. 4 1 3 2  
e. Answer not known 
nghUj;Jf:  
Neha;    Neha;f;fhuzp  
A. gd;wpf;fha;r;ry;   1. kdpj ghg;gpNyhkh itu];  
B. gwitf;fha;r;ry;  2. n`h;gp]; rpk;g;nsf;]; itu];  
C. gpwg;GWg;gpy; nfhg;Gsk; 3. ,d;GSad;rh itu]; H1N1. 
D. gpwg;GWg;gpy; n`h;gp]; 4. ,d;GSad;rh itu]; H5N1  

A B C D 
a. 3 4 1 2  
b. 4 3 1 2  
c. 3 1 4 2  
d. 4 1 3 2  
e. tpilnjhpatpy;iy 

 
98. Consider the following statements:  

Assertion (A): Matured mammalian RBCs do not have nucleus.  
Reason (R) : Mammalian RBC lack nucleus and makes the cell biconcave and  
increase the surface area for oxygen binding. 
a. Both (A) and (R) are correct and (R) is the correct explanation to (A)  
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A)  
c. (A) is true but (R) is false  
d. (A) is false but (R) is true  
e. Answer not known 
gpd;tUk; thf;fpaq;fisf; fUj;jpy; nfhs;. 
$w;W (A) : ghY}l;bfspd; Kjph;r;rp mile;j ,uj;j rptg;gZtpy; cl;fU 
fhzg;gLtjpy;iy.  
fhuzk; (R): ghY}l;bfspd; RBC –apy; cl;fU ,y;yhjpUg;gjpdhy; 
mr;nry;yhdJ  
,UGwk; Fope;j mikg;igg; ngw;W mjpfsT Mf;rp[d; ,iztjw;fhd 
Nkw;gug;gpidg; ngw;Ws;sJ.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpilnjhpatpy;iy 
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99. Match the following:  

WBC     percentage  
A. Neutrophils   1. 60 – 65%  
B. Eosinophils   2. 2 – 3%  
C. Basophils    3. 0.5 – 1.0% 
D. Lymphocytes   4. 20 – 25% 
E. Monocytes   5. 5 – 6%  

A B C D E 
a. 1 3 2 4 5  
b. 1 5 2 4 3 
c. 1 2 3 4 5  
d. 1 2 5 4 3  
e. Answer not known 
nghUj;Jf:  
WBC     rjtPjk;  
A. epA+l;Nuh/gpy;fs;  1. 60 – 65% 
B. <rpNdh/gpy;fs;   2. 2 – 3% 
C. NgNrh/gpy;fs;   3. 0.5 – 1.0% 
D. ypk;/Nghirl;fs;  4. 20 – 25% 
E. NkhNdhirl;fs;  5. 5 – 6%  

A B C D E 
a. 1 3 2 4 5  
b. 1 5 2 4 3 
c. 1 2 3 4 5  
d. 1 2 5 4 3 
e. tpilnjhpatpy;iy  

 
100. Consider the following statements:  

Assertion (A) : cortisol is also known as life – saving hormone.  
Reason (R) : cortisol serves to maintain the body in living condition and recover  

it from the Severe effects of stress reactions.  
a. Both (A) and (R) are correct and (R) is the correct explanation to (A) 
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A) 
c. (A) is true but (R) is false  
d. (A) is false but (R) is true  
e. Answer not known 
gpd;tUk; thf;fpaq;fq;fis fUj;jpy; nfhs;.  
$w;W (A) : fhh;l;bNrhy; caph; fhf;Fk; `hh;Nkhd; vd;Wk; miof;fg;gLfpwJ.  

fhuzk; (R) : fhh;l;bNrhy; cliy caph;g;G epiyapy; itj;jpUf;fTk; kpFe;j  
   ghjpg;G kw;Wk; kd mOj;jq;fspypUe;J kPz;L tuTk; cjTfpwJ.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A)f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  



 

36 | Page  044-24339436, 42867555, 9840226187 
 

e. tpilnjhpatpy;iy 
101. Consider the following statements:  

Assertion (A) : Sometimes fraternal twins develop in human uterus.  
Reason (R) : Sometimes ovaries releases two eggs and each is fertilised by a  

different sperm 
a. Both (A) and (R) are correct and (R) is the correct explanation to (A). 
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A) 
c. (A) is true but (R) is false  
d. (A) is false but (R) is true  
e. Answer not known 
gpd;tUk; thf;fpaq;fisf; ftdp:  
$w;W (A) : rpy Neuq;fspy; NtWgl;l ,ul;ilah;fs; kdpj fUg;igapy; 
cUthfpd;wdh;.  
fhuzk; (R): rpy rkaq;fspy;> mz;lj;jpdhy; ,uz;L Kl;ilahdJ 
ntspaplg;gl;L> ,U NtWgl;l tpe;Jthy; fUTWjy; eilngWfpwJ.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fk;.  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpilnjhpatpy;iy 

 
102. What is the formula of Body mass index (BMI) 

a. BMI  = Weight (kg) / Height (m)2 

b. BMI = Weight (g) / Height (m)2 
c. BMI  = Weight (mg) / Height (m)2 

d. BMI  = Wight (kg) / Height (cm)2 

e. Answer not known 

clw;gUkf; Fwpapl;bd; #j;jpuk; (BMI) vd;d? 
a. BMI = vil (fpfp)/ cauk; (kP)2   

b. BMI = vil (fp)/ cauk; (kP)2 

c. BMI = vil (kpfp) / cauk; (kP)2   
d. BMI = vil (fpfp) / cauk; (nr.kP)2  
e. tpilnjhpatpy;iy 

 
103. Match the following: 

Salivary Gland    Duct  
A. Parotids gland    - 1. Wharton’s duct  
B. Sublingual gland  - 2. Bartholin’s duct  
C. Sub Maxillary Gland - 3. Stenson’s duct  
 A B C 
a. 3 2 1 
b. 1 2 3 
c. 2 3 1 
d.  1 3 2 
e. Answer not known 
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nghUj;Jf: 
ckpo;ePu; Rug;gp   ehsk;  
A. Nkyz;zr; Rug;gp  1. thu;ldpd; ehsk;  
B. ehtbr; Rug;gp   2. gu;Njhypd; ehsk;  
C. Nky;jhilr; Rug;gp  3. ];nld;rd; ehsk; 
 A B C 
a. 3 2 1 
b. 1 2 3 
c. 2 3 1 
d.  1 3 2 
e. tpilnjhpatpy;iy 

 
104. jk;Kila Jd;gj;ij Nghf;fp cjtpathpd; el;ig vj;jid gpwg;Gfspy; 

kwthky; Nghw;Wth; nghpNahh;?  
a. ,g;gpwg;gpy; kl;Lk;  b. VO gpwg;G NjhWk; c. mLj;j gpwg;gpy; kl;Lk; 
d. ,it VJkpy;iy  e. tpilnjhpatpy;iy 
The wise will remember throughout their _______ the love of those who have 
wiped away their affliction 
a. this birth   b. seven-fold births  c. next birth  
d. none of these  d. Answer not known 

 
105. The parietal or oxyntic cells secrete HCl and an intrinsic factor responsible for 

the absorption of ________ called castle’s intrinsic factor  
a. Vitamin B12  b. Vitamin B6   c. Vitamin B1   
d. Vitamin B2   e. Answer not known 
ngiul;ly; nry;fs; my;yJ Mf;rpd;bf; nry;fs; i`l;NuhFNshupf; mkpyk; 
kw;Wk; _______ I cl;fpufpf;fj; Njitahd Nfry;]; cs;sikf; fhuzpiaAk; 
Ruf;fpd;wd.  
a. itl;lkpd; B12  b. itl;lkpd; B6  c. itl;lkpd; B1  
d. itl;lkpd; B2  e. tpilnjhpatpy;iy 

 
106. On an average, a healthy human breathes ______ 

a. 10-12 times / minute   b. 10-14 times / minute  
c. 12-14 times / minute  d. 12-16 times / minute 
e. Answer not known 
xU MNuhf;fpakhd kdpjdpd; ruhrhp Rthrk; ___________.  
a. 10 – 12 Kiwfs; / epkplk;  b. 10 – 14 Kiwfs; / epkplk;  
c. 12 – 14 Kiwfs; / epkplk; d. 12 -1 6 Kiwfs; / epkplk;  
e. tpilnjhpatpy;iy 

 
107. Match the following: 

Plasma      Constituents 
A. Water      1. 0.9% 
B. Inorganic Constituents     2. 0.1% 
C. Organic Constituents    3. 80-92% 
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 A B C 
a. 3 1 2 
b. 1 2 3 
c. 3 2 1 
d. 2 3 1 
e. Answer not known 
nghUj;Jf: 
 gpsh];kh     $Wfs;  
A. ePH;      1. 0.9% 
B. fdpkg; nghUl;fs;   2. 0.1% 
C. fhpkg; nghUl;fs;    3. 80 – 92%  
 A B C 
a. 3 1 2 
b. 1 2 3 
c. 3 2 1 
d. 2 3 1 
e. tpilnjhpatpy;iy 

 
108. The four main types of plasma proteins albumin, globulin, prothrombin and 

fibrinogen are synthesized by which organ? 
a. Kidney   b. Liver    c. Bone Marrow  
d. Thymus gland  e. Answer not known 
ehd;F Kf;fpa gpsh];kh Gujq;fshd my;Gkpd;> FNshGypd;> GNuhj;uhk;gpd; 
kw;Wk; /igg;hpNdh[d; Mfpait ve;j cWg;ghy; cw;gj;jp nra;ag;gLfpwJ?  
a. rpWePufk;   b. fy;yPuy;   c. vYk;G k[;i[  
d. ijk]; Rug;gp   e. tpilnjhpatpy;iy 

 
109. Match the following: 

Blood Group    Agglutinin  
A. A    - 1. No Antibodies  
B. B    - 2. Anti A and Anti B 
C. AB    - 3. Anti A 
D. O     - 4. Anti B 
 A B C D 
a. 1 2 3 4 
b. 4 3 1 2 
c. 3 4 2 1 
d. 2 3 4 1 
e. Answer not known 
nghUj;Jf:  
,uj;j tFg;G   mf;@l;bdpd;fs;  
A. A    1. Md;bghbfs; ,y;iy  
B. B    2. Md;b A kw;Wk; Md;b B  
C. AB    3. Md;b A 
D. O     4. Md;b B 
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A B C D 

a. 1 2 3 4 
b. 4 3 1 2 
c. 3 4 2 1 
d. 2 3 4 1 
e. tpilnjhpatpy;iy 

 

110. Consider the following statements: 
Assertion (A): Blood Samples are usually taken from the veins rather than 
artery 
Reason (R): The Veins are found superficially and the veins have low pressure 
than arteries  
a. Both A and R are correct and R is the correct explanation to A 
b. Both A and R are correct and R is not the correct explanation to A  
c. A is true but R is false  
c. A is false but R is true  
gpd;tUk; thf;fpaq;fisf; fUj;jpy;nfhs;.  
$w;W (A) : ,uj;j khjphpfs; vLf;f nghJthf jkdpfis tplr;  
    rpiufNs rpwe;jit.  
fhuzk; (R): rpiufs; clypy; Nkw;Gwkhf fhzg;gLfpd;wd NkYk;  
    jkdpfis tpl rpiwfs; mOj;jk; Fiwe;jit.  
a. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) vd;gJ (A)f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; 
my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpilnjhpatpy;iy 

 

111. Which of the following is correct? 
a. Pulse Pressure = Systolic Pressure – Diastolic Pressure  
b. Pulse Pressure = Diastolic Pressure – Systolic Pressure  
c. Pulse Pressure = Heart Rate × Stroke Volume  
d. Pulse Pressure = Heart Rate × EDV 
e. Answer not known 
gpd;tUtdtw;Ws; vJ rupahdJ? 
a. ehbj;Jbg;G mOj;jk; = rp];Nlhypf; mOj;jk; - la];Nlhypf; mOj;jk; 
b. ehbj;Jbg;G mOj;jk = la];Nlhypf; mOj;jk; - rp];Nlhypf; mOj;jk; 
c. ehbj;Jbg;G mOj;jk = ,jaj;Jbg;G tPjk; × tPr;Rnfhs;ssT  
d. ehbj;Jg;G mOj;jk; = ,jaj;Jbg;G tPjk; × EDV 
e. tpilnjhpatpy;iy 

 

112. gpd;tUtdtw;iw Ma;f 
$w;W (A) : xUth; Kd; nra;j ed;ikia kwg;gJ mwk; md;W  
fhuzk; (R): mth; nra;j jPikia mg;nghONj kwg;gJ mwk; MFk;  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A)f;F rhpahd tpsf;fkhFk;  
b. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A)f;F rhpahd tpsf;fky;y  
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c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpilnjhpatpy;iy 
Consider the following 
Assertion (A): It is not good to forget a benefit 
Reason (R): it is good to forget an injury even in the very moment 
a. A and R are true R is the correct explanation of A 
b. A and R are true R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 

 
113. Which of the following is secreted by Adenohypophysis?  

1. GH  2. PRL  3. GTH  4. ADH  5. FSH 
a. 1, 2, 3, 4, 5 correct    b. 1, 2, 3, 5 correct 4  incorrect  
c. 1, 2, 3 correct 4, 5 incorrect   d. 1, 3, 5 correct 2, 4 incorrect  
e. Answer not known 
gpd;tUtdtw;Ws; vJ mbNdhi`g;Nghig]prhy; Ruf;fg;gLfpwJ?  
1. GH  2. PRL  3. GTH  4. ADH  5. FSH 
a. 1, 2, 3, 4, 5 rhp    b. 1, 2, 3, 5 rhp 4  rhpay;y  
c. 1, 2, 3 rhp 4, 5 rhpay;y   d. 1, 3, 5 rhp 2, 4 rhpay;y  
e. tpilnjhpatpy;iy 

 
114. Which of the following helps in the contraction of the smooth muscles of 

uterus at the time of child brith and milk Ejection gland after child birth?  
a. Oxytocin   b. prolactin   c. Vasopressin   
d. Adrenaline  e. Answer not known 
gpd;tUdtw;Ws; vJ ngz;fspd; Foe;ijg;Ngw;wpd; NghJ fUg;igia RUf;fpAk; 
Foe;ijg;Ngw;Wf;F gpwF ghy; Rug;gpfspy; ghiy ntspNaw;Wtjw;Fk; 
fhuzkhfpwJ?  
a. Mf;rpNlhrpd;  b. GNuhyhf;Bd;  c. thNrhgpurpd;  
d. ml;hpypdpd;  e. tpilnjhpatpy;iy 

 
115. The reactions of glycolysis occurs in the  

a. Mitochondria and require the presence of oxygen 
b. Chloroplast and do not require the presence of oxygen 
c. Cytoplasm and do not require the presence of oxygen 
d. Peroxysomes and require the presence of oxygen 
e. Answer not known 
fpisf;fhyp]p]; - tpidfs; eilngWtJ 
a. ikl;Nlhfhd;l;hpahtpy; kw;Wk; Mf;rp[d; Njitg;gLk; epiyapy; 
b. gRq;fzpfj;jpy; kw;Wk; Mf;rp[d; Njitapy;yhj epiyapy;  
c. irl;Nlhgpshrj;jpy; kw;Wk; Mf;rp[d; Njitapy;yhj epiyapy; 
d. nguhf;rpN]hkpy; kw;Wk; Mf;rp[d; Njitg;gLk; epiyapy;  
e. tpilnjhpatpy;iy 
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116. _________ is essential for binding of Ribosomal sub units. 

I. Mo  II. Mg  III. Cl  IV. Ca 
a. I and II only  b. II only   c. III and IV only  
d. IV only   e. Answer not known 
iuNghNrhk; Jiz myFfis ,izf;fg; gad;gLk; fdpkk;  
I. Mo  II. Mg III. Cl IV. Ca 
a. I kw;Wk; II kl;Lk;  b. II kl;Lk;    c. III kw;Wk; IV kl;Lk;  
d. IV kl;Lk;   e. tpilnjhpatpy;iy 

 
117. Which of the following plant boosts the production of red blood cells? 

a. Turmeric  b. Tulsi   c. Lemon grass   
d. Mustard  e. Answer not known 
gpd;tUtdtw;wpy; ve;j jhtuk; ,uj;j rptg;gZ cw;gj;jpia J}z;lf; $baJ?  
a. kQ;rs;   b. Jsrp   c. vYkpr;rk; Gy;   
d. fLF   e. tpilnjhpatpy;iy 

 
118. Which is the native place of Eucalyptus? 

a. Asia  b. Antarctica    c. Africa   
d. Australia  e. Answer not known 
a+f;fypg;l]; kuq;fspd; g+h;tPfk; vJ? 
a. Mrpah    b. mz;lhh;bfh     c. Mg;gphpf;fh    
d. M];jpNuypah e. tpilnjhpatpy;iy 

 
119. Which among the following is used to treat sewage?  

a. Diatom, Fucus     b. Chondrus, Chara 
c. Chlorella, Chlamydomonas  d. Chondrus, Gracilaria  
e. Answer not known 
fPo;tUtdtw;wpy; fopT ePh; Rj;jpfhpg;gpy; gad;gLtJ vJ?  
a. lahl;lk; /gpAf];   b. fhd;l;u];> Nfuh 
c. FNshnuy;yh> fpshkpNlhNkhdh]; d. fhd;l;u];> fpuhrpNyhpah 
e. tpilnjhpatpy;iy 

 
120. “Kd; cjtp nra;jth; gpd;G nfhd;whh; Nghd;w Jd;gj;ijr; nra;jhuhdhYk;> 

mth; Kd; nra;j xU ed;ikia epidj;jhYk; me;jj; Jd;gk; nfLk;" vd;gij 
czh;j;Jk; Fws; ahJ?  
a. ve;ed;wp nfhd;whh;f;Fk; ca;Tz;lhk; ca;tpy;iy  

nra;e;ed;wp nfhd;w kfw;F.  
b. nfhd;wd;d ,d;dh nrapDk; mth;nra;j  

xd;Wed;W cs;sf; nfLk;.  
c. fhyj;jp dhw;nra;j ed;wp rpwpnjdpDk;  

Qhyj;jpd; khzg; nghpJ.  
d. ed;wp kwg;gJ ed;wd;W ed;wy;yJ  

md;Nw kwg;gJ ed;W.  
e. tpilnjhpatpy;iy 
Choose the apt Kural for the following meaning 
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Though one inflict an injury great as murder, it will perish before the thought 
of one benefit (formerly) conferred 
 
 
a. Who every good have killed, may yet destruction flee; 

Who 'benefit' has killed, that man shall ne'er 'scape free 
b. Effaced straightway is deadliest injury, 

By thought of one kind act in days gone by 
c. A timely benefit, -though thing of little worth, 

The gift itself, -in excellence transcends the earth 
d. 'Tis never good to let the thought of good things done thee pass away; 

Of things not good, 'tis good to rid thy memory that very day 
e. Answer not known 

 
121. Which of the following statements is/are correct regarding blood volume in 

human beings? 
1. In adult human being the total volume of blood is about 5 litres. 
2. The average volume of blood is calculated on weight basis. 
3. In human beings approximately 70 ml of blood for each kilogram of body 

weight. 
Select the correct answer using the code given below. 
a. 1 only   b. 1 and 2 only   c. 2 and 3 only 
d. 1, 2 and 3   e. Answer not known 
fPo;nfhLf;fg;gl;Ls;s thf;fpaj;jpy; kdpjDila ,uj;j msT vd;gjpy; 
rhpahdJ tpilia Njh;e;njLf;fTk;. 
1. kdpjDila nkhj;j ,uj;j msT fuhfhpahf 5 ypl;lh; ,Uf;Fk;. 
2. kdpjDila ,uj;j msT ruhrhp cly; vilapypUe;J fzf;fplg;gLfpwJ. 
3. kdpjDila ,uj;j msT cly; vilapy; 1 fpNyhfpuhKf;F ruhrhpahf 70 

ml ,uj;jk; vd fzf;fplg;gLfpwJ. 
a. 1 kl;Lk;   b. 1 kw;Wk; 2 kl;Lk; c. 2 kw;Wk; 3 kl;Lk;  
d. 1> 2 kw;Wk; 3  e. tpilnjhpatpy;iy 

 

122. Match the following  
Hormone     Disease 
A. Deficiency of growth hormone 1. Diabetes insipidus 
B. Deficiency of vasopreesin  2. Grave’s disease 
C. Deficiency of thyroxine   3. Dwarfism 
D. Increase of thryoxine   4. Cretinism 
 A B C D 
a. 2 3 4 1 
b. 3 1 4 2 
c. 3 2 1 4 
d. 1 2 3 4 
e. Answer not known  
nghUj;Jf 

`hh;Nkhd;    Neha;fs; 
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A. tsh;r;rp `hh;Nkhd; Fiwtjhy; 1. ilahngB]; ,d;rpgpl]; 
B. thN]hg; gpu];]pd; Fiwtjhy; 2. fpNutpd; Neha; 
C. ijuhf;]pd; Fiwtjhy;   3. Fs;sj;jd;ik 
D. ijuhf;]pd; mjpfkhtjhy;  4. fphpl;bdp]k; 

A B C D 
a. 2 3 4 1 
b. 3 1 4 2 
c. 3 2 1 4 
d. 1 2 3 4 
e. tpilnjhpatpy;iy 

 
123. Find out the wrong statement 

a. The phloem in gymnosperms lacks companion cells  
b. Pollinations is one mophilous in gymnosperms 
c. The ovules are protected by the carpels in gymnosperms 
d. Vessels are usually absent from the xylem of gymnosperms 
e. Answer not known 
fPo;f;fz;l fUj;Jfspy; jtwhdij Rl;bf; fhz;gpf;fTk;.  
a. [pk;Ndh];gh;k;fspy; fhzg;gLk; GNshak; fw;iwfspy; Njhoikr; nry;fs; 

fhzg;gLtjpy;iy. 
b. [pk;Ndh];gh;k;fspy; kfue;j Nrh;f;if fhw;W %ykhf elf;fpd;wJ. 
c. [pk;Ndh];gh;k;fspd; #y;fs; fhh;gd;fshy; ghJfhf;fg;gl;Ls;sJ. 
d. iryk;  fw;iwfspy; nghJthf ntry;fs; [pk;Ndh];gh;k;fspy; 

fhzg;gLtjpy;iy 
e. tpilnjhpatpy;iy. 

 
124. In forensic science, __________ has become useful technique to identify and 

found relationship of a person.  
a. DNA finger printing   b. antisense RNA technique  
c. Animal cloning    d. Tissue culture  
e. Answer not known 
jla mwptpaypy; xU kdpjid milahsk; fhZjy; kw;Wk; cwtpd;Kiwia 
fz;lwpa cjTk; njhopw;El;gk; 
a. DNA tpuy;Nuif gjpT  
b. Mz;bnrd; RNA technique (RNA njhopw;El;gk;) 
c. tpyq;fpd FNshdpq;    
d. jpR tsh;g;G 
e. tpilnjhpatpy;iy 
 

125. Difference between RNA and DNA is that of  
a. Phosphate and sugar  b. Phosphate and Nitrogenous base 
c. Nucleoside and nucleotide d. Sugar and nitrogenous base  
e. Answer not known 
Mh;.vd;.V kw;Wk; b.vd;.V –f;Fk; ,ilapy; cs;s NtWghL vd;gJ 
a. gh];Ngl; kw;Wk; rh;f;fiuapy; cs;sJ 
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b. gh];Ngl; kw;Wk; iel;uh[pd]; Ng];-y; cs;sJ 
c. epa+f;spNahirL kw;Wk; epa+f;spNahilby; cs;sJ 
d. rh;f;fiu kw;Wk; iel;uh[pdhy; Ng];-y; cs;sJ 
e. tpilnjhpatpy;iy 

 
126. Rgh~hgpkhdk; - nghUs; $Wf. 

a. jha; ehl;Lg; gw;W  b. jha; nkhopg; gw;W  c. jhapd; kPJ gw;W  
d. rNfhjug; gw;W  e. tpilnjhpatpy;iy 

 
127. flk; - ,r;nrhy;ypd; nghUs;  

a. Flk;  b. ghk;G    c. Ntk;G   
d. clk;G   e. tpilnjhpatpy;iy 

 
128. ngw;whd; - Nth;r; nrhy;iyf; fz;lwpe;J vOJf. 

a. ngw;w  b. ngw;W    c. ngW   
d. NgW  e. tpilnjhpatpy;iy 

 
129. th vd;w nrhy;ypd; nganur;rk; Fwpg;gpLf.  

a. te;jhd;  b. te;J   c. tUjy;   
d. te;j  e. tpilnjhpatpy;iy 

 
130. mfu thpirg; gb mike;Js;sijf; fz;lwpf.  

a. nrg;G> nrd;id> nry;tk;> nrb  b. nrb> nrg;G> nry;tk;> nrd;id  
c. nrg;G> nry;tk;> nrd;id> nrb  d. nrb> nry;tk;> nrg;G> nrd;id  
e. tpilnjhpatpy;iy 

 
131. fhyq;fspy; njUtpy; kio itf;fhjPh; fhiy – nrhw;fis xOq;FgLj;jp 

nrhw;nwhlh; cUthf;Ff.  
a. kiof;fhyq;fspy; itf;fhjPh; fhiy njUtpy;     
b. njUtpy; itf;fhjPh; fhiy kiof;fhyq;fspy;  
c. kiof;fhyq;fspy; njUtpy; fhiy itf;fhjPh;      
d. itf;fhjPh; fhiy fhyq;fspy; kiof; njUtpy;  
e. tpilnjhpatpy;iy 

 
132. cw;wwpjy; + Ritj;jy; + Efh;jy;  

,k; %d;Wk; vt; caph;fSf;F chpaJ 
a. rpg;gp – ej;ij  b. fiuahd; - vWk;G  c. gwit – 
tpyq;F 
d. ej;ij – ez;L   e. tpilnjhpatpy;iy 

 
133. nghUswpe;J nghUj;Jf: 

A. xy;iy   1. rptd;  
B. <W   2. vUik  
C. Nkjp  3. vy;iy  
D. mq;fzh;  4. tpiuT  
 A B C D 
a. 1 2 3 4 
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b. 2 3 4 1  
c. 3 4 1 2  
d. 4 3 2 1   
e. tpilnjhpatpy;iy 

 
134. mtd; nghd;dd; - vt;tifg; ngah;  

a. nghUl;ngah; b. ,lg;ngah;   c. fhyg; ngah;   
d. njhopy; ngah; e. tpilnjhpatpy;iy 

 
135. xU ngah;r;nrhy;ypd; nghUisr; nrag;gL nghUshf NtWgLj;JtJ 

a. ,uz;lhk; Ntw;Wik b. %d;whk; Ntw;Wik  c. ehd;fhk; Ntw;Wik 
d. Ie;jhk; Ntw;Wik  e. tpilnjhpatpy;iy 

 
136. nfhLf;fg;gl;l njhlhpy; nganur;rj; njhiuj; Njh;T nra;f.  

a. te;J je;jhd;  b. ijj;j rl;il   c. jq;if Nfl;lhs;  
d. nrd;W ghh;j;jhd;  e. tpilnjhpatpy;iy 

 
137. Foy; Nfl;L kfpo;e;jhd;  

,J – vt;tif MFngah;?  
a. fhhpathF ngah;  b. fUtpahF ngah;  c. fUj;jhF ngah;  
d. jhdpahF ngah;  e. tpilnjhpatpy;iy 

 
138. fPo;f;fz;ltw;wpy; gpwtpidj; njhiuf; Fwpg;gpLf.  

a. ghj;jpkh jkpo; fw;whs;      
b. ghj;jpkh jkpo; fw;gpj;jhs;  
c. ghj;jpkh khzth;fsplk; $wpdhs;      
d. ghj;jpkhtplk; khztd; jhd; kJiuf;Fr; nry;tjhff; $wpdhd; 
e. tpilnjhpatpy;iy 

 
139. nfhy;iyapNy thio> gyh> khq;fdpfs; FYq;Fk;.  

,t;tpilf;Nfw;w tpdhtpid vOJf? 
a. vJ FYq;Fk;?     b. vJfs; FYq;Fk;? 
c. nfhy;iyapNy FYq;Ftd ahit?  d. vJTk; FYq;ftpy;iy  
e. tpilnjhpatpy;iy 

 
140. cld;ghl;L tpidia vjph;kiw tpidahf khw;Wf: te;jhd;  

a. tUthd;  b. te;jpyd;   c. tUfpwhd;   
d. tUfpd;whd; e. tpilnjhpatpy;iy 

 
141. jd;ikapd; mbg;gilapy; mike;j epyj;jpd; ngah; vJ? 

a. FwpQ;rp epyk; b. nrk;kz; epyk;  c. cth; epyk;   
d. fsh; epyk;  e. tpilnjhpatpy;iy 

 
142. nghUj;Jf:  

A. JQ;ry;   1. Kaw;rp     
B. jkpah;  2. typik  
C. jhs;  3. Nrhk;gy;       
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D. Nehd;ik  4. jdpj;jth;  
 
 
 
 A B C D 
a. 2 3 4 1  
b. 3 4 1 2  
c. 3 4 2 1  
d. 1 2 4 3 
e. tpilnjhpatpy;iy 

 
143. mbNjhWk; ehd;F rPh;fisg; ngw;W tUtJ 

1. Fwsb  2. rpe;jb  3. nebyb  4. Neub 
a. 3  b. 4  c. 1  d. 2  e. tpilnjhpatpy;iy
   

144. jisapd; tifawpf.  
fha;Kd; epiu tUtJ  
- vj;jid tifapd;ghw;gLk; vd;W fz;lwpf.  
a. ntz;rPh; ntz;lis b. xd;wpa tQ;rpj;jis c. xd;whj tQrpj;jis  
d. jypj;jis   e. tpilnjhpatpy;iy 

 
145. gpioahd $w;iwf; fz;lwpf.  

a. ck;ikj; njhifapy; tUk; ty;ypdk; kpfhJ     
b. ,ul;ilf; fpstpapy; ty;ypdk; kpfhJ  
c. tpidj; njhifapy; tUk; ty;ypdk; kpfhJ     
d. td;nwhlh;f; Fw;wpaYfuj;jpd; gpd;tUk; ty;ypdk; kpfhJ  
e. tpilnjhpatpy;iy 

 
146. jkpo; ___________ Xir nkhop.  

a. nrg;gy;  b. J}q;fy; c. nky; d. Js;sy;  e. tpilnjhpatpy;iy 
 
147. “rhd;whz;ik” – mir gphpj;Jf; fhl;Ljypy; rhpahd tpiliaj; Njh;e;njL.  

a. rh + d;wh + z;ik   b. rhd; + whz; + ik  
c. rhd; + wh + z;ik  d. rhd; + whz;ik  
e. tpilnjhpatpy;iy 
 

148. jkpnoz;fisf; $l;Lf.  
Um + Rm = ? 
a. Rfc  b. fRc   c. fUf   
d. fcR  e. tpilnjhpatpy;iy 

 
149. kd;dpg;G – vk;nkhopr; nrhy;.   

a. jkpo;  b. njYq;F   c. kiyahsk;   
d. cUJ   e. tpilnjhpatpy;iy 

 
150. “Neu epfu md;d ,d;d      

vd;gTk; gpwTk; ctkj; JUNg” vd;w thpfs; ,lk;ngw;Ws;s E}y; vJ? 
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a. njhy;fhg;gpak;  b. ed;D}y;   c. ahg;gUq;fyf; fhhpif  
d. mfj;jpak;   e. tpilnjhpatpy;iy 

 
151. ehd;fhk; Ntw;Wik nrhy;YUg;Gfs; vit?  

a. nfhz;L> cld;  b. nghUl;L> epkpj;jk;   c. ,Ue;J> epd;W  
d. cila   e. tpilnjhpatpy;iy 

152. nghUj;Jf: 
A. vd;wy;    1. Kw;Wk;ik 
B. Ee;ij    2. Fwpg;G tpidKw;W  
C. ahitAk;    3. k&c 
D. ed;W     4. njhopw;ngah;  
 A B C D 
a. 4 3 1 2  
b. 3 4 2 1  
c. 2 4 1 3  
d. 4 3 2 1 
e. tpilnjhpatpy;iy 

 
153. “gl;bAs fhis gbghy; fwf;FNk ey;y gR Ntis jtpuh JOk;” 

,g;ghly; mbfspy; ,lk;ngw;Ws;s nghUs;Nfhs; tifapid Njh;e;njL. 
a. mbkwpkhw;Wg; nghUs;Nfhs;  b. nfhz;L $l;Lg; nghUs;Nfhs;  
c. nkhopkhw;Wg; nghUs;Nfhs;   d. tpw;G+l;Lg; nghUs;Nfhs;  
e. tpilnjhpatpy;iy 

 
154. xU ngah;r;nrhy;ypd; nghUisr; nrag;gLk; nghUshf NtWgLj;JtJ vt;tif 

Ntw;Wik vdj; Njh;e;njL.   
a. %d;whk; Ntw;Wik  b. Ie;jhk; Ntw;Wik  c. Mwhk; 
Ntw;Wik 
d. ,uz;lhk; Ntw;Wik  e. tpilnjhpatpy;iy 

 
155. gpd;tUtdtw;Ws; vJ cUtfkd;W?  

a. nkhopaKJ b. mbkyh;   c. jkpo;j;Njd;   
d. faw;fz;   e. tpilnjhpatpy;iy 

 
156. vl;Lj;njhif E}y;fspy; „ehlfg; ghq;fpy;‟ mike;Js;s E}ypidj; Njh;e;njLj;J 

vOJf.  
a. FWe;njhif  b. mfehD}W   c. fypj;njhif  
d. Iq;FEW}W   e. tpilnjhpatpy;iy 

 
157. “mwTiuf; Nfhit” vd miof;fg; ngWk; E}y;   

a. KJnkhopf;fhQ;rp  b. Mrhuf; Nfhit   c. Vyhjp   
d. rpWgQ;r%yk;   e. tpilnjhpatpy;iy 

 
158. dy Kd;Dk; zs Kd;Dk; jef;fs; GzUk; tpjpg;gb gpd;tUtdtw;Ws; vJ 

rhp?  
a. dy Kd;lzTk; zs Kd; wdTk;  b. dy Kd; wlTk; zs Kd; dzTk;  
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c. dy Kd; wdTk; zsKd; lzTk; d. dy Kd; wzTk; zsKd; ldTk;  
e. tpilnjhpatpy;iy 

 
 
159. fPo;f;fz;l $w;Wfspy; vJ rhpahdJ?  

a. rhy> jt Kjypa chpr;nrhw;fspd; gpd; ty;ypdk; kpfhJ 
b. tpidj;njhifapy; ty;ypdk; kpfhJ 
c. td;nwhlh;f; Fw;wpaYfuj;jpd; gpd; ty;ypdk; kpfhJ  
d. ctikj; njhifapy; ty;ypdk; kpfhJ  
e. tpilnjhpatpy;iy 

 
160. “caph;thpd; cf;Fws; nka;tpl;L XLk;” – vd;Dk; Gzh;r;rp tpjpg;gb Gzh;e;Js;s 

nrhy; vJ? 
a. fw;wh b. fd;wh c. fwh  d. fd;W  e. tpilnjhpatpy;iy 

 
161. chpa nghUisj; Njh;e;njOJf: Ghpir  

a. Ntfk;  b. tsk;  c. kjpy; d. Nkfk;  e. tpilnjhpatpy;iy 
 
162. nghUj;Jf: nghUswpe;J nghUj;Jf:  

A. eadk;  1. ,Us;  
B. ,e;J   2. Gd;dif  
C. KWty;  3. fz;fs;  
D. my;  4. epyT  
 A B C D 
a. 3 4 2 1  
b. 3 4 1 2  
c. 4 3 2 1 
d. 3 2 1 4 
e. tpilnjhpatpy;iy 

 
163. chpik tpsq;Fk; nghUis fz;lwpe;J nghUj;Jf. 

A. mj;jpg; G+j;jJ Nghy  1. xw;Wik  
B. capUk; clk;Gk; Nghy  2. gadpy;iy  
C. Mw;wpy; fiuj;j Gsp  3. Ntjid  
D. ,btpOe;j kuk; Nghy  4. mhpa nray;  
 A B C D 
a. 3 1 4 2  
b. 2 3 4 1  
c. 4 1 2 3  
d. 4 2 1 3  
e. tpilnjhpatpy;iy 

 
164. khwpAs;s rPh;fis Kiwg;gLj;jp vOJf.  

a. ,y;yhiu vs;Sth; nry;tiu vy;yhUk;  
b. ,y;yhiu nry;tiu vy;yhUk; vs;Sth;  
c. ,y;yhiu vy;yhUk; vs;Sth; nry;tiu  
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d. nry;tiu vy;yhUk; vs;Sth; ,y;yhiu  
e. tpilnjhpatpy;iy 

 
165. khwpAs;s rPh;fis Kiwg;gLj;jp vOJf.  

a. Fzeyk; eyNd rhd;Nwhh; gpweyk;  
b. rhd;Nwhh; eyNd Fzeyk; gpweyk;  
c. Fzeyk; rhd;Nwhh; eyNd gpweyk;  
d. rhd;Nwhh; Fzeyk; eyNd gpweyk;  
e. tpilnjhpatpy;iy 

 
166. kuf;fyj;ij Fwpf;Fk; ehd;F nrhw;fis Njh;e;njLf;f  

a. fyk;> Njhzp> Gzhp> kpjit  b. fyk;> ghprpy;> Xlk;> guit  
c. fyk;> tq;fk;> Giz> mk;gp  d. fyk;> ghprpy;> Mop> g/wp  
e. tpilnjhpatpy;iy 

     
167. fuzj;Njh; ________ vdg; gphpAk;. 

a. fuzk; + Njh; b. fuzj;J + Vh;   c. fud; + mj;J + Vh;  
d. fhuzk; + Njh;  e. tpilnjhpatpy;iy 

 
168. „ey;tp‟ - ,r;nrhy;ypd; nghUis vOJf.  

a. khd;  b. eha;  c. Gyp  d. gR  e. tpilnjhpatpy;iy 
 
169. 26 Kjy; 32 taJ tiu cila gUt kfsph;  

a. kle;ij  b. mhpit  c. kq;if  d. njhpit  e. tpilnjhpatpy;iy 
 
170. nghUj;Jf: 

A. jphpfLfk;   1. ngUthapd; Ks;spahh; 
B. Mrhuf;Nfhit   2. ey;yhjdhh;  
C. gonkhop ehD}W  3. fhhpahrhd;  
D. rpWgQ;r%yk;  4. Kd;Wiw miuadhh;  
 A B C D 
a. 2 1 4 3  
b. 2 3 4 1  
c. 3 2 1 4  
d. 3 1 4 2  
e. tpilnjhpatpy;iy 
 

171. nghUe;jhjij vLj;J vOJf.  
a. murd; te;jJ  - jpiztO  
b. fgpyd; Ngrpdhs;  - ghy;tO 
c. Fapy;fs; $tpaJ - vz; tO  
d. fkyh rphpj;jhs;   - fhy; tO  
e. tpilnjhpatpy;iy 

 
172. „Nfz;ik‟ - ,r;nrhy;ypd; vjph;r;nrhy;  

a. Jd;gk; b. gif c. el;G  d. typik  e. tpilnjhpatpy;iy 
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173. “,iw> nrg;G” vd;gd fPo;fz;l vr;nrhy;Yf;F toq;Fk; NtW ngah;fs;  

a. tpdh b. nkhop c. tpil d. ,iwtd;  e. tpilnjhpatpy;iy 
 
174. mfj;jpizapd; tiffs;  

a. Ie;J  b. MW  c. %d;W  d. VO  e. tpilnjhpatpy;iy 
 

175. gpwnkhopr; nrhw;fSf;F Vw;w jkpo;r;nrhw;fisg; nghUj;Jf: 
A. kPdhl;rp  1. mq;faw;fz;zp  
B. kJutrdp  2. ths;neLq;fz;zp  
C. fl;fNej;hp  3. ePs;neLq;fz;zp  
D. tprhyhl;rp  4. Njd;nkhopg;ghit  
 A B C D 
a. 1 4 3 2  
b. 1 4 2 3 
c. 1 3 4 2 
d. 1 2 4 3 
e. tpilnjhpatpy;iy 

   
176. nghUj;Jf: 

A. fhfk;   1. $Tk; 
B. Fjpiu   2. fiuAk;  
C. rpq;fk;   3. fidf;F  
D. Fapy;    4. Koq;Fk;  

A B C D 
a. 1 3 4 2 
b. 4 3 1 2  
c. 2 4 1 3  
d. 2 3 4 1  
e. tpilnjhpatpy;iy 

 
177. “vjp&d;wy; fhQ;rp> vapy; fhj;jy; nehr;rp” - ,jpy; nehr;rp vd;gJ  

a. kjpy; fhj;jy;  b. kjpy; tisj;jy;   c. kjpy; G+r;#ly; 
d. kjpy;thif #ly;  e. tpilnjhpatpy;iy  

 
178. mfu thpirapy; mike;Js;s nrhw;fisf; fz;lwpf.  

a. fhR> $iw> ifg;gpb> fpsp> Nfzp  
b. fhR> fpsp> $iw> Nfzp> ifg;gpb 
c. fpsp> ifg;gpb> fhR> $iw> Nfzp  
d. Nfzp> fhR> fpsp> $iw> ifg;gpb 
e. tpilnjhpatpy;iy 
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179. nghUe;jhjij fz;lwpe;J vOJf.  
a. Ie;J fpNyh    - vLj;jy; msit MFngah;  
b. ehY ypl;lh;   - Kfj;jy; msit MFngah;  
c. %d;W kPl;lh;   - ePl;ly; msit MFngah;  
d. ,e;jpah ntd;wJ   - ctikahF ngah;  
e. tpilnjhpatpy;iy 

 
180. Jwe;jhh; ngUik Jizf;$wpd; itaj;  

jpwe;jhiu vz;zpf;nfhz;lw;W  
,jpy; mike;J tUk; Nkhid. 
a. ,iz Nkhid   b. nghopg;G Nkhid   c. x&c Nkhid 
d. $io Nkhid    e. tpilnjhpatpy;iy 

 
181. gl;bay; I cld; gl;bay; II Ig; nghUj;jp ,yf;fzf; Fwpg;G vOJf 

gl;bay; I   gl;bay; II 
A. <hPtis   1. gz;Gj;njhif  
B. khkiy   2. Vohk; Ntw;Wikj;njhif 
C. jz;Fil   3. chpr;nrhy; njhlh; 
D. ifNae;jp   4. tpidj;njhif 
 A B C D 
A. 1 3 4 2   
B. 3 1 2 4   
C. 2 4 3 1   
D. 4 3 1 2 
e. tpilnjhpatpy;iy 

 
182. “jd;Nd hpyhj jkpo;” ,j;njhlh; ,lk; ngw;w E}y; 

a. jpUf;Fws;  b. njhy;fhg;gpak;  c. jz;bayq;fhuk;   
d. ed;D}y;  e. tpilnjhpatpy;iy 

 
183. „Instinet’ vd;Dk; Mq;fpyr; nrhy;ypd; rhpahd jkpo;r;nrhy; 

a. ,aw;if xOq;F  b. ,aw;if tdg;G  c. ,aw;if mwpT  
d. ,aw;if nfhil  e. tpilnjhpatpy;iy 

 
184. nghUj;Jf: jhtu cWg;Gg; ngah;fs; 

A. %q;fpy;     1. jhs; 
B. Ntg;gk;    2. $e;jy; 
C. fKfk;    3. jio 
D. ney;    4. ,iy 

 A B C D 
a. 4 2 3 1   
b. 2 1 4 3   
c. 3 2 1 4   
d. 4 3 2 1 
e. tpilnjhpatpy;iy 
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185. fz;zd; vd;gJ ____ gFgjk; MFk;. 
a. nghUl;ngah;  b. rpidg;ngah;  c. gz;Gg;ngah;  
d. tpidg;ngah;  e. tpilnjhpatpy;iy 

 
186. ehd;> ahd;> vd;gd 

a. jd;ik xUikg; ngah;fs; b. jd;ikg; gd;ikg; ngah;fs;  
c. glh;f;ifg; ngah;fs;  d. Kd;dpiyg; ngah;fs; 
e. tpilnjhpatpy;iy 
 

187. cjLfs; ,uz;Lk; nghUe;Jtjdhy; gpwf;Fk; vOj;Jf;fs; 
a. f;q;  b. Q;l;  c. a;h;  d. g;k;  e. tpilnjhpatpy;iy 

 
188. „tUif‟ vd;gJ _____ gUtj;ijf; Fwpf;Fk; 

a. %d;whtJ  b. MwhtJ    c. Ie;jhtJ   
d. VohtJ  e. tpilnjhpatpy;iy 

 
189. mty; vjph;r;nrhy; 

a. gs;sk;  b. NkL   c. mtd;  
d. czT  e. tpilnjhpatpy;iy 

 
190. “vw;ghL” vd;Dk; nrhy;ypy; „ghL‟ vd;gjd; nghUs; 

a. jahh; nra;jy; b. ghl;Lg; ghLjy;  c. kiwAk; Neuk;  
d. Jd;gg;gLjy; e. tpilnjhpatpy;iy 

 
191. “flk;” vd;w nrhy;ypd; nghUs; 

a. Kfk; b. iffs; c. clk;G d. ,Lk;G e. tpilnjhpatpy;iy 
 
192. jioah ntg;gk; jiof;fTk; vDk; njhlhpy; jio vd;gJ 

a. ngah;r;nrhy;  b. <Wnfl;l vjph;kiw ngah;r;nrhy; 
c. tpidr;nrhy;  d. chpr;nrhy; 
e. tpilnjhpatpy;iy 

 
193. gphpj;njOJf. 

„thapdPh;‟ 
a. tha; + ePh;  b. tha;d; + ePh;  c. thapd; + ePh;  
d. th + ePh;  e. tpilnjhpatpy;iy 

 
194. „%d;Wiu miuadhh;‟ – vd;wg; ngahpy; miuadhh; vd;Dk; nrhy;ypd; nghUs; 

a. Ch;  b. murd; c. MW  d. ehL  e. tpilnjhpatpy;iy 
 
195. nghUj;Jf. 
 A. fhd;    1. fub 
 B. cOit    2. rpq;fk; 
 C. klq;fy;    3. Gyp  
 D. vz;F    4. fhL  
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  A B C D  
 a. 4 3 2 1  
 b. 4 3 1 2  
 c. 3 4 1 2  
 d.       3 4 2 1 

e. tpilnjhpatpy;iy 
 
196. xyp NtWghlwpe;J rhpahdg; nghUis vOJf: thiy - this 

a. ,sk;ngz; - kPd;tif  b. kPd;tif - ,sk;ngz; 
c. kutif - kPd;tif  d. ,sk;ngz; - kutif 
e. tpilnjhpatpy;iy 

 
197. xU nghUspd; jd;ikia kpifg;gLj;jpf; $WtJ 

a. jw;Fwpg;Ngw;w mzp b. ,ay;G etpw;rp mzp c. cah;T etpw;rp mzp 
d. ctik mzp  e. tpilnjhpatpy;iy 
 

198. ty;ytDf;Fg; Gy;Yk; MAjk; 
a. A man of courage never wants weapons 
b. A good marksman may miss 
c. Grass is the weapon for a man 
d. Efforts never fail 
e. tpilnjhpatpy;iy 
 

199. First deserve then desire 
a. rpW JUk;Gk; gy;Fj;j cjTk; 
b. Kltd; nfhk;Gj; NjDf;F Mirg; glyhkh? 
c. gjwhj fhhpak; rpjwhJ 
d. fiug;ghh; fiuj;jhy; fy;Yk; fiuAk;  
e. tpilnjhpatpy;iy 

 
200. Birds of the same Feather Flock together 

a. gwitfs; Nrh;e;Nj ,Uf;Fk;  b. ,dk; ,dj;NjhL NruhJ 
c. ,dk; ,dj;NjhL NrUk;   d. ,dk; ,dj;NjhL NrWk; 
e. tpilnjhpatpy;iy 
 

 


